Education Consultant India Ltd.

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Technical Assistant Fashion Design
Subject Name : Technical Assistant (Fashion Design)
Creation Date : 2021-08-14 12:08:43

Duration : 120

Total Marks : 200

Display Marks: Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

General Awareness

Group Number : 1
Group Id : 92775951
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 92775951
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775961
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9277591553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Aram Bagh in Agra was built by which of the following Mughal emperors?
Options :

1. ¥ Babur

2. % Akbar

3. ®* Shah Jahan

4. % Humayun

Question Number : 1 Question Id : 9277591553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



RT ¥ URIE SR & REfeiRad & 9 food Giel GYTC gRT S=amr 1747 1?2
Options :

1. ¢ dla}

2. % HbhdR

3. % W16 S8l

4. % gAY

Question Number : 2 Question Id : 9277591554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jur Sital, also known as Maithili New Year, it is celebrated on in Bihar.
Options :

1. ¥ 10th March

2. % 14th April

3. % 21st May

4. ¥ 5th June

Question Number : 2 Question Id : 9277591554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oS fida, o Al /g 9 & = u & +f S wran 8, faer A B {8 |
Options :

1. % 10 A
2. ¢ 14 30
3. %2179
4. % 5TE

Question Number : 3 Question Id : 9277591555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an unsecured money market instrument issued in the form of a promissory note.



Options :

1. # Bank Draft

2. # Bill of Exchange
3. # Cheque

4. ¥ Commercial Paper

Question Number : 3 Question Id : 9277591555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ iEd T AT S HC § S 99 UF & U J R} fhar Srar B
Options :

1. % 4% g4

2. % fafma o

3. % I

4. ¥ 90D T

Question Number : 4 Question Id : 9277591556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, it is expected that Western Dedicated Freight Corridor (DFC) and Eastern DFC will be commissioned by

Options :

1. % September 2023
2. % August 2024

3. ¥ June 2022

4. % July 2023

Question Number : 4 Question Id : 9277591556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 % Folc § &1 TS NN & STHR, T8 SMUTEd ¢ fob ufddt wuta o1d gars Tie™RT $iR gdf (DFC) &1 A IGAERIRSILRIT

Options :



1. ® Rdex 2023
2. % 3T 2024
3. % 2022

4. % AT 2023

Question Number : 5 Question Id : 9277591557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT an example of Diploblastic animals?
Options :

1. ¥ Molluscs

2. % Jellyfish

3. % Corals

4, % Sea Anemones

Question Number : 5 Question Id : 9277591557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead 7 @ o a1 fgeRe! uh femsmfes uved) &1 3o T8t 82
Options :

1. ¢ Hid%h

2. % SAlth

3. % T

4. % G UMM

Question Number : 6 Question Id : 9277591558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of flowering plants?
Options :

1. # Thallophytes



2. # Bryophytes
3. % Angiosperms
4. # Pteridophytes

Question Number : 6 Question Id : 9277591558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFraffad 7 & B9 1 9w Tl BT e 82
Options :

1. % JdIpIgey

2. % JRTGIERCH

3. ¢ Tgdsiol

4. % RSIBIECY

Question Number : 7 Question Id : 9277591559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following islands was formerly known as ‘Wheeler Island’?
Options :

1. # Sriharikota

2. ¥ Abdul Kalam

3. ¥ Havelock

4, % Sjvasamudram

Question Number : 7 Question Id : 9277591559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad | ¥ {9 gIu ! Ugd “BIeR gIa’ & =19 I ST SiTd 412

Options :

1. % fgddieT
2. ¢ 3fegd HAM




3. % ggdld
4. % TREageq

Question Number : 8 Question Id : 9277591560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rudraprayag is the place of confluence of Alaknanda and rivers.
Options :

1. ¥ Mandakini

2. # Dhauliganga

3. % Nandakini

4. # Pindar

Question Number : 8 Question Id : 9277591560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEUATT, APl 3R et & WY BT RIF 7
Options :

1. ¥ Heafcbeit

2. % diefivim

3. % FaTfepHl

4. % fUsT

Question Number : 9 Question Id : 9277591561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Poona Sarvajanik Sabha was established in
Options :

1. % 1865

2.9 1870

3. % 1856



4. % 1887

Question Number : 9 Question Id : 9277591561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qUl TGl JUT B RITAAT dgs
Options :

1. % 1865

2.9 1870

3. % 1856

4. % 1887

Question Number : 10 Question Id : 9277591562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who founded the Hindu Mahasabha in 1915?
Options :

1. # Feroze Shah Mehta

2. % Anand Mohan Bose

3. % Madan Mohan Malaviya

4. # Jyotiba Phule

Question Number : 10 Question Id : 9277591562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhea 1915 T g TETHUT &1 RITTAT 1?2
Options :

1. % OIS 2Tg He

2. % 3 HigA dIY

3. ¢ HeA Hig "4

4. % ifdeT ol



Question Number : 11 Question Id
Orientation : Vertical

: 9277591563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
When was the first East India Company factory set up in Surat?

Options :
1.¥ 1613
2. % 1624
3. % 1618
4. % 1631

Question Number : 11 Question Id
Orientation : Vertical

: 9277591563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

IRd H U 53¢ SfST1 HU BT HREHT e R fovam a1 U1

Options :
1. ¥ 1613
2. % 1624
3. % 1618
4. % 1631

Question Number : 12 Question Id
Orientation : Vertical

: 9277591564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following prizes is awarded by UNESCO?

Options :

1. ¥ Kalinga Prize
2. # Pulitzer Prize
3. % Sakharov Prize

4. % Templeton Prize

Question Number : 12 Question Id

: 9277591564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafRed & @ ®F T REBR b gRT U o Sirar g2
Options :

1. ¢ I REBR

2. % GfefoR RIBR

3. % JURIH RIPR

4. % U RIDR

Question Number : 13 Question Id : 9277591565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yo 1Y [GbT BrichH BT JATC A fRagl
Options :

1. % Y

2. % 7

3. % foMar

4. 4D

Question Number : 13 Question Id : 9277591565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of United Nations Development Programme (UNDP) is located in
Options :

1. # France

2. % Rome

3. % Geneva

4. ¥ New York

Question Number : 14 Question Id : 9277591566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Mahratta Chamber of Commerce, Industry and Agriculture (MCCIA) has launched India’s first agro-export facilitation centre in
, in collaboration with D110 in May 2021.

Options :
1. % Pune
2. ¥ Mumbai
3. # Chennai
4. #® Kolkata

Question Number : 14 Question Id : 9277591566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Xl deR 3T FHIAY, 8! U8 TWideeR (MCCIA) A A8 2021 H D110 & T8 T YRA &1 Ugdl HiY-Fafd gfaen &s
= fHar gl

Options :

1. gul

2. % Hag

3. % 93

4. % HIADIAI

Question Number : 15 Question Id : 9277591567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister Narendra Modi announced that the Pradhan Mantri Garib Kalyan Anna Yojana will be extended till 2021 to support
80 crore beneficiaries on 7™ June 2021.

Options :

1. ¥ November

2. # September

3. % October

4. % December

Question Number : 15 Question Id : 9277591567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T FT RS AT A 7 S 2021 P IO & b 80 FHRIS AT BT THUT HRA o forg Te™ Wl RIS HedTor 3 a1 ol

2021 T TETT ST
Options :

1. ¢ IR

2. % RdsR

3. % TR

4. % feOR

Question Number : 16 Question Id : 9277591568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India and started 315 edition of Coordinated Patrols or CORPAT, with the aim of reinforcing maritime links between two countries
and to keep Indian Ocean safe and secure for international trade.
Options :

1. # Philippines
2. # Sri Lanka
3. # Vietnam
4. ¥ Thailand

Question Number : 16 Question Id : 9277591568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3R = <) 3= b e gl el b Horgd B SR SRIFT SR & T e AeR &1 Wigd 3@ & Jexa 4
A TRl AT CORPAT 7 319 T¥HUT Y= fohaT |

Options :

1. % fardi=
2. % Sicipl
3. % fogaqamw
4. ¢ YISAUS



Question Number : 17 Question Id : 9277591569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Chief Justice served the shortest tenure?
Options :

1. % Ranganath Misra

2. % Kamal Narain Singh

3. % Harilal Jekisundas Kania

4. % Bhuvaneshwar Prasad Sinha

Question Number : 17 Question Id : 9277591569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 forg T <manediwr = ged Sl siera [ faram
Options :

1. % Y Ay

2. ¢ HHA AR &g

3. % AT Sy e

4. % YR TS Rig

Question Number : 18 Question Id : 9277591570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article of the Indian Constitution deals with the election of the Vice-president.
Options :

1. % 49

2. % 58

3. % 62

4. ¥ 66

Question Number : 18 Question Id : 9277591570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRATT T3 &1 e SIRIFUF % g9 4 Hafd 5
Options :

1. % 49

2. % 58

3. % 62

4. ¥ 66

Question Number : 19 Question Id : 9277591571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has been world champion since he defeated Viswanathan Anand in 2013.
Options :
1. # Levon Aronian
2. % Fabiano Caruana
3. * Ding Liren
4. ¥ Magnus Carlsen

Question Number : 19 Question Id : 9277591571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
.2013 § fIYAIA 31E &1 831 & o1 I fay S w1 8
Options :
1. % ddH RIATH
2. % iSO HTRESAM
3. % fEmfer
4. TUY BT

Question Number : 20 Question Id : 9277591572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



won the Men's Single French Open 2021.
Options :
1. % Rafael Nadal
2. ¥ Novak Djokovic
3. % Roger Federer
4. # Stefanos Tsitsipas

Question Number : 20 Question Id : 9277591572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A oY Uhdl thd 31U 2021 SidT|
Options :
1. % JPII STl
2. ¢ A1 Siblfdd
3. % YR BER
4. % LHHNY R
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277591573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in a meaningful order.

1. Serving
2. Cutting
3. Eating
4. Cooking
5. Washing

Options :

1.9 524,13
2. % 54132
3. % 3,1452
4. % 51,3,2,4

Question Number : 21 Question Id : 9277591573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U wsg) ! I A A TafRd B
1. TRIGAT



2. Pplcl
3.9l

4. QT ST
5. ¢

Options :

1.¥52413
2. % 541,32
3.% 314,52
4. % 51,324

Question Number : 22 Question Id : 9277591574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term.

D26G, J24M, P22S, | BISE
Options :

1. % UI9Y

2. ¥ V20Y

3. % VI9Y

4. % V207Z

Question Number : 22 Question Id : 9277591574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NISEEEIGEER]

D26G, J24M, P22S,  ,BI8E
Options :

1. % UI9Y

2. ¥ V20Y

3. % VI9Y

4. % V20Z



Question Number : 23 Question Id : 9277591575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Nickel
2. # Zinc
3. ¥ Steel
4. % Copper

Question Number : 23 Question Id : 9277591575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Ripedl H A & T Rfyd i T U &1 8T, U faded 3/ diF ot ke 781 o | 39 fahed &1 T B3 Sl 3 F 3T g
Options :

1. % od

2. % Ol

3. ¢ gWId

4. % e

Question Number : 24 Question Id : 9277591576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # EARN : NRAE

2. % RUMOUR : RUOMUR
3. ¥ COLOUR : RUOLOC
4. ¥ BASKET : TEKBAS



Question Number : 24 Question Id : 9277591576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fRiwedl 7 @ & te Rfya % T TuE 81 g1, T faded 3/ diF ot ke 181 8| 39 [aped &1 T B3 il 3 F (a8
Options :

1. * EARN : NRAE

2. % RUMOUR : RUOMUR

3. ®* COLOUR : RUOLOC

4. ¥ BASKET : TEKBAS

Question Number : 25 Question Id : 9277591577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Mend : Repair :: Sedate : ?
Options :

1. % wild

2. ¥ calm

3. % exciting

4. % stop

Question Number : 25 Question Id : 9277591577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR I g¥R1 S Ugd Ue J Yefid g

U - HIH @ RHT - 2
Options :
1. % STl
2. X1d



3. % JToI®
4. % fovH

Question Number : 26 Question Id : 9277591578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

LATE : 15,26, 7,22 :: PRANK : ?
Options :

1. % 16,18, 1, 14, 11

2. % 11,9,1, 14, 16
3.911,9,26,13, 16

4. % 16,11,4,26,13

Question Number : 26 Question Id : 9277591578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHed T 997 B S iR UG 9 341 UHR ¥ Yafdd g fo JR ¥ IR UG Ugd Ug ¥ Hafed g

LATE : 15,26,7,22 :: PRANK : ?
Options :

1. % 16,18, 1, 14, 11

2. % 11,9,1, 14, 16

3.¥11,9, 26,13, 16

4. % 16,11,4,26,13

Question Number : 27 Question Id : 9277591579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TRIAL is coded as 5. BELIEVED is coded as 8, then what is the code for ASSASSINATION?
Options :

1.9 13



2. % 21
3.% 12
4. % 15

Question Number : 27 Question Id : 9277591579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe TRIAL BT 5 & &0 H Pifsd fba1 71 8| BELIEVED &1 8 & 70 § Sifsd far a1 8, df ASSASSINATION & ol oI5 F1 82
Options :

1. 13

2. % 2]

3. % 2

4. % 15

Question Number : 28 Question Id : 9277591580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If BLUE is coded as 4-14-23-7, what is the code for GREEN?
Options :

1. # 9-18-5-5-14

2. % 8-20-7-7-14

3. % 7-18-5-5-14

4. ¥ 9-20-7-7-16

Question Number : 28 Question Id : 9277591580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe BLUE &l 4-14-23-7 F ¥U A DIfSd {01 701 ], d GREEN & ol o1 1S 82
Options :

1. % 9.18-5-5-14

2. % §.20-7-7-14



3. # 7-18-5-5-14
4. % 9-20-7-7-16

Question Number : 29 Question Id : 9277591581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R, S, T and U are sitting in a bench facing East. R is between P and T, Q is just to the right of T but to the immediate left of S. U is not at
the right end. How many people are to the right of T?

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 29 Question Id : 9277591581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PQR,S TIRUTGSAH TP IR TAIRB IS & IR, PIARTH AAHG, Q, TH 31 U g Wb S F 3B AW A G U BR W
TR 81 T % N¢ 3R fore afad

Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 30 Question Id : 9277591582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunita is the niece of Pankaj's mother. Sunita's mother is Pankaj's maternal aunt. Rishi is Sunita's mother's brother. Rishi's mother is Sunita's
maternal grandmother. How is Rishi related to Pankaj?

Options :

1. # Brother



2. * Father
3. % Maternal Uncle
4. % Sister

Question Number : 30 Question Id : 9277591582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, Yol & [T &1 HelToll § | AT &1 AT Udbs 1 AT § | BT, T &1 AT &1 HIS 8| B 1 A1 GHidn &1 411 ¢ | B, Gavel
T HY TR 82

Options :

1% Y5

2. % fUdr

3. ¢ HH

4. % dg-

Question Number : 31 Question Id : 9277591583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All stars are meteors.
Statement 2 : Some meteors are moons.
Statement 3 : All moons are insects.

Conclusion I : Some insects are meteors.
Conclusion II : Some stars are moons.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow.

4. % Either conclusion I or II follows.



Question Number : 31 Question Id : 9277591583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yy § 9 Py feu e g, g a1 &l e 1 3R 11 feu U 81 3mueh! 37 HUHl &l I AT 8, YA 8 U8 IMHRId: J1d a2 3 fig
el 81 3MTUeh) a7 1 § b fou 7 P & | o1 91, afe 1 81 At fRu U put 7 & SgeRur Tl B

$YT1 : FH IR Iep1 B
Y2 : TS Sl TG ] |
HYF 3 . g FEHI Bie B

frpd 1. 8 Fie I8

frpd 11 . o8 IR TR

Options :

1. ¢ Pacl Feepy [ 3TERU BT 2

2. % Had fHY 11 TR0 HT &

3. % B [ SR 11 I SFIERUI dl &
4. % 1A ISy 17 11 SFIER0T el &

Question Number : 32 Question Id : 9277591584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question four statements are given, followed by four conclusions, I, II, IIT and I'V. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some carpets are tables.
Statement 2 : All tables are pens.
Statement 3 : Some pens are cartons.
Statement 4 : All cartons are copies.

Conclusion I : Some cartons are carpets.
Conclusion II : All cartons are tables.
Conclusion III : Some pens are carpets.
Conclusion IV : Some copies are pens.

Options :



1. #* Conclusion I and II follow
2. * Conclusion II and III follow
3. % Conclusion III and IV follow

4. % Conclusion I and III follow

Question Number : 32 Question Id : 9277591584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § IR HYF U TN B, o a1 IR sy 1, 11, 111 3R 1v fAu 7T §1 3mues! 37 HUA &l I AT 8, YA 81 I8 ITHId: J1d a2 3
st Trefid BT 1 SMTUD] a9 BT ¢ fob [T Y Feh e § ¥ S 91, IS DIs 81 al foU 7T ST H F R0 dxal g

HYT 1 : B B AW 2|
Y2 I AT HaA B |

BYT3: HS AT DIeA g |
BY 4 : GHI I BT B |

gy 1 $0 FIET BRA |
fred 11 Mt e AW Bl

ey 111 . $© FAH FRF |
frepd 1v . 7o S Far g
Options :

1. % fepel 1 3R 11 SR vd §
2. % FTHY 11 3R 111 3FJARUI IRl §
3. ¢ Y 111 SR IV SFJERUT R §
4. % Tpd 1 3R 111 SRRV R §

Question Number : 33 Question Id : 9277591585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 56-67



2. % 39-50
3. % 73-84
4. ¥ 63-78

Question Number : 33 Question Id : 9277591585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawedl & 9 & T [y dRid & 90 § | 8TalD, Th [deed o1 o9 &1 dve T8l o | 39 [Awed &1 9= &< off 3 ¥ AT 5|
Options :

1. # 56-67

2. % 39-50

3. % 73-84

4. ¥ 63-78

Question Number : 34 Question Id : 9277591586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

260 | 132
20 | 36
Options :
1. % 8
2.%9
3.% 10

4.9 12



Question Number : 34 Question Id : 9277591586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eod HEAT A1 cong

260 | 132
20 | 36
Options :
1. % 8
2.%9
3.% 10
4.9 12

Question Number : 35 Question Id : 9277591587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Nitrogen, Ice and Air?
Options :



4.9

Question Number : 35 Question Id : 9277591587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 5 A B |1 9 3G Igc e, §tb 3R 91 & &< & Hoit) Bl Fard 351 SR 82

Options :



O

4. ¢

Question Number : 36 Question Id : 9277591588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of circles are there in the given question figure?

Options :
1. % 17
2. % 18
3. % 19
4.9 21



Question Number : 36 Question Id : 9277591588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&1 TIZ WA HTHId H Jodl H Hhadw TEAr =t g2

Options :
1. % 17
2. % 18
3. % 19
4.9 21

Question Number : 37 Question Id : 9277591589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following answer figure completes the series of the question figure?

b LY
Frr
Py
N

Options :



Lo
1. #®
BES
MEE

L
4.

Question Number : 37 Question Id : 9277591589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fRfEa & & Fia d@r 37 ampfa g ampfa 1 @ F1 [ FEr 8?

Y
i
Frg
%Y

Options :



L
], %
2. %
EE
e
4.9

Question Number : 38 Question Id : 9277591590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the missing figure in the following matrix.

X
@D
A/ -

Options :
1. #

X
2. %

X
3. %

@
4.

Question Number : 38 Question Id : 9277591590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frrafafa smegg (Fftew) & ooa a7+

X
O\D|+
A/

Options :

2. ®

7a)
3. ®

®
4.9

Question Number : 39 Question Id : 9277591591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following cubes in the answer figure can be made based on the unfolded cube in the question figure?

1 2
6
4
315
Options :
6
1 5
1. %
5
2 4
2. %
4
1 6
3.¢




Question Number : 39 Question Id : 9277591591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraf@a & & 3ccR ¥pla & 58 99 & Ted HSia & F7@ A 70 g & AWK RS9 ST Fordl

1 2
6
4
3| 5
Options :
6
1 D
1. %
<
2 4
2. %




3. ¢

Question Number : 40 Question Id : 9277591592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

e
e

Options :

e
el




g
N

= =}
3. ®

o
LB

Question Number : 40 Question Id : 9277591592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITE T gUUT & T AB T WM AT g, df 3k Hpiad # & Hia @ &F 715 3Mpia H T ofF 82

A
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2. %
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3. ®
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Arithmetic Ability

Section Id : 92775953
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
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Sub-Section Id : 92775963
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277591593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rational Number for the recurring decimal 0.18181818...7
Options :

1. = 3/11

2. % 1/11

3. 2/11

4. = 4/11

Question Number : 41 Question Id : 9277591593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3TacH GRHT (BT SRIM) 0.18181818... & ot TRYT Tem w72
Options :
1. % 3/11
2. % /11
3.¢ 211
4. % 4/11

Question Number : 42 Question Id : 9277591594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3786+13.894-x=3568.0283. What is the value of (xx34.55+67)?
Options :

1. ® 8076

2. % 8076.96

3. ¥ 8077.96

4. % 8081

Question Number : 42 Question Id : 9277591594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3786+13.894-x=3568.0283 | (xx34.55+67) WII'F[EP:IT%?
Options :

1. # 8076

2. % 8076.96

3. ¥ 8077.96

4. % 8081

Question Number : 43 Question Id : 9277591595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man bought a watch at Rs 1000. Another man bought the same watch with 2 successive discounts at Rs 765. What is the second discount if the
first discount is 10%?



Options :
1. ¥ 15%
2. % 5%
3. % 10%
4. = 20%

Question Number : 43 Question Id : 9277591595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Qaﬁgnaﬂ?r1000@%@@‘1&%@%&mﬁﬁa@a@aﬁzwwé@mﬂmswﬁ@ﬁmaﬁq%?«ﬁ@?m%%a‘rz‘{aﬁggz
R 8?

Options :

1. ¥ 15%

2. % 5%

3. % 10%

4. % 20%

Question Number : 44 Question Id : 9277591596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man's salary is increased by 80% then it is decreased by 80%. What is his loss?
Options :

1. ® 80%

2. % 74%

3. % 64%

4. % 47%

Question Number : 44 Question Id : 9277591596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ao & da- B 80% 1 gfg DI o1t g al fOhR ITH 80% HI HH DI St &1 SHD! 811 1 82

Options :




1. * 80%
2. % 74%
3. ¥ 64%
4. %= 47%

Question Number : 45 Question Id : 9277591597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of banana goes up by 10%. What will the percentage decrease in a family's expenditure if the expenditure need to be constant at 400
were the share of banana is 18%.

Options :
1. * 90.90%
2. % 11.11%
3.4 9.09%
4. % 10%

Question Number : 45 Question Id : 9277591597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fd P AN 10% T I STl & | Tb URAR & T A fha- ufasrd &1 o) it afe o0 &bl 400 TR fRR Wa- & Il §, Sgl W Hdl
»1 3T 18% B

Options :

1. % 90.90%

2. % 11.11%

3. 9.09%

4. % 10%

Question Number : 46 Question Id : 9277591598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A selling 20 balls at 800, there's a loss of the cost price equal to 4 balls. What is the cost price of the ball?
Options :



1. * 44
2. % 46
3. % 48
4.4 50

Question Number : 46 Question Id : 9277591598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 Tt @Y 800 T FTH WR, 4 TGl & SRR AT el B! 1 Bl & | Tie BT AN Hed FT 82
Options :

1. % 44

2. % 46

3. % 48

4. 50

Question Number : 47 Question Id : 9277591599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells a dozen of good at 1000 at a profit of 20% and sells another dozen of good at 1200 and makes a loss of 5%. What is the
average profit percentage from the two sales?

Options :

1. = 11.48%
2. % 6.54%
3. % 9.50%
4. ¥ 4.94%

Question Number : 47 Question Id : 9277591599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHER U Goi- I DI 1000 TR 20% b ATH TR ST § 3R 37 U Goi g% DI 1200 TR ITd1 & 3R 5% 1 BI- BT ¢ | &l faep!
3 3fIRTd Y UfRId 1 67

Options :




1. * 11.48%
2. % 6.54%
3. % 9.50%
4. ¥ 4.94%

Question Number : 48 Question Id : 9277591600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2800 is divided into 4 parts of (1/5):(7/9):(2/7):(3/8), then what is the third part?
Options :

1. % 800

2. % 1329.14

3. % 640.83

4. ¥ 488.25

Question Number : 48 Question Id : 9277591600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 2800 BY (1/5):(7/9):(2/7):(3/8) & 4 UM & faviford fowam man g, o =T 1T am g
Options :

1. * 800

2. % 1329.14

3. ¥ 640.83

4. ¥ 488.25

Question Number : 49 Question Id : 9277591601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 1600 is divided into 3 parts in the proportion of (1/3):(2/5):(3/4), then the second part is?
Options :

1. ¥ 431.46

2. % 359.55



3. * 808.99
4. # 640

Question Number : 49 Question Id : 9277591601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1600 DY (1/3):(2/5):(3/4) P U & 3 HFN H fauTfora fowan 7 B, af vy wmT 82
Options :

1. ¥ 431.46

2. % 359.55

3. % 808.99

4. % 640

Question Number : 50 Question Id : 9277591602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the annual rate of interest corresponding to a rate of 7% per annum compounded half yearly?
Options :

1. %® 7.09

2. % 745

3. % 7.06

4. 7.12

Question Number : 50 Question Id : 9277591602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Thafs Bid 7% Ufd a9 &1 R I TS DT IS &R T ]2
Options :

1. % 7.09

2. % 745

3. % 7.06



4.4 7.12

Question Number : 51 Question Id : 9277591603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on a sum of money for 3 years is at 8% p.a. The interest amount is 775. The simple interest on the same sum for double
the time at half the rate percent per annum is:

Options :

1. ¥ 716.18
2. % 716.36
3. % 716.54
4. % 716.72

Question Number : 51 Question Id : 9277591603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmwﬁfrmﬂs%mwﬁms%uﬁaé%Wﬂﬁms%lwwﬁmuﬁra&fﬁaﬂ%ﬂa{@rgﬂﬁwwmwm
Options :

1. 716.18

2. % 716.36

3. % 716.54

4. % 716.72

Question Number : 52 Question Id : 9277591604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cover the distance of 240 Kms in 6 hours. To cover the same distance in only 4.5 hours, what will be the speed of the train?
Options :

1. % 180 km/h

2. % 53.33 km/h

3. % 40.33 km/h



4. * 60 km/h

Question Number : 52 Question Id : 9277591604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST 6 BC T 240 kms BI G T HR bl § | THM g3 I Had 4.5 G T T I & [o1T YeTe! Bt i 1 gl
Options :

1. * 180 km/h

2. % 5333 km/h

3. % 40.33 km/h

4. % 60 km/h

Question Number : 53 Question Id : 9277591605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels at 100 km/h for 200 kms then 80 km/h for 300 kms. What is the average speed for the first 350 kms (in km/h)?
Options :

1. ¥ 90.32

2. % 9143

3. % 640/6

4. % 640/9

Question Number : 53 Question Id : 9277591605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3MEH 200 kms & fTT 100 kn/h BT 7T T T AT © TR 300 kms & foTT 80 km/h T TTH HRAT 8 | TS 350 ks D1 3T A (ken/h
) FTZ?

Options :

1. ¢ 90.32

2. % 9143

3. % 640/6

4. % 640/9



Question Number : 54 Question Id : 9277591606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do the work in 20 and 40 days respectively. If on first day both of them work together, on second day A work alone and on third day
B work alone, how much of work will be done in those 3 days?

Options :
1.4 0.15
2. % 0.1
3.% 0.2
4. % 0.25

Question Number : 54 Question Id : 9277591606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B HHRT: 20 3R 40 f&i § &1 = Thd 8 | IS U8 faA 1 T 1Y BT Xl §, GO [ A 3hal B Bl § IR e fa B
3hd BT BT 8, dl 37 3 et & fopam o fovan s

Options :

1.¥0.15

2. % 0.1

3. %02

4. % 025

Question Number : 55 Question Id : 9277591607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X can do a job in 25 days and he starts to do the job. If he do the job for 10 days and rest job is completed by Y is 10 days. How long will X and
Y both take to do the job together?

Options :
1. * 25
2. % 15
3. % 20



4.4 10

Question Number : 55 Question Id : 9277591607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X T B B 25 - H P Yobdl & 3R I8 BT BT & R <l g1 afe a8 10 femt & o vrd e 8 SR A% b v gR1 QR o
ST € SR T8 10 fEA 81 X 3R Y T @ B &l R HRA | fhd-1 9Hg T

Options :

1. % 25

2. % 15

3. % 20

4.4 10

Question Number : 56 Question Id : 9277591608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cuboid has length-width-height as 11 cm — 8 cm — 5 cm. The cuboid is moulded into a cone with same height. What will be the radius of the
cone?

Options :

1Lv 221
2 % 2V42
\ % V167

4 % V166

Question Number : 56 Question Id : 9277591608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



[od .

TH T D! Tds-AISR-HdTs 11em-8cm-5em & | TTH 1 THM $dTs aTdl P B o1l oiidl & | ] o1 BHoar &1 gifo
Options :

1Lv 2V21

2 % 242
s % V167
4 % V166

Question Number : 57 Question Id : 9277591609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tank has 100 meter length and 22 meter width. The water flows into it at a speed of 18 km/h. The cylindrical pipe has a radius of 1 m. In what
time the water will rise by 10 meters?

Options :
1. % 700s
2. % 1400s
3. % 2100s
4. % 1750s

Question Number : 57 Question Id : 9277591609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH bl Dl darg 100 Hiex 3R AeTs 22 Hex 81 398 UMY 18 km/h B 7110 § 9801 8 | STHIGR UIRY $t 34T 1 m g1 fvad ma H umi 10
Hiex d& d¢ ST

Options :

1. % 700s

2. ¥ 1400s

3. % 2100s




4. # 1750s

Question Number : 58 Question Id : 9277591610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart shows the cost bifurcation of a printing company. The company pays 30000 as the transportation cost.
What will be the Printing cost of that company?

Cost bifurcation of a printing
company (in %)

Options :

1. % 9000
2. % 90000
3. % 6000
4. ¥ 60000

Question Number : 58 Question Id : 9277591610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS =C HEUT FHUA F AT s (Repdhere) @ geffar g1 F9er aREge oed & ®9 A 30000
AT T ¢ 3H 9T T BUI5 1 AR 4T grafr?

o fifen ot 3t e (% H)

Options :

1. % 9000
2. % 90000
3. % 6000
4. ¥ 60000

Question Number : 59 Question Id : 9277591611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The graphs shows the sales and profit proportions for different sections of a departmental store. If the total sales is 10
Crores in a year what is the sales figure of the section having top 2 sales?

E Electronics m Crockery m Clothes © Toiletries m Electricals

RERE

Sales and profit proportions [in%)
(=]
2

Options :

1. ¥ 5 crores
2. % 2 crores
3. ® 4 crores

4. % 3 crores

Question Number : 59 Question Id : 9277591611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



% el 3R & Rffes @ost & v Ry R a7 & s @ gear 81 3 o 9 7 gor A
10 3= &, ar I 2 &Fr aror ©= =7 foehr 3eesT #F7 872
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Question Number : 60 Question Id : 9277591612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et 3t e SruT (% H)

# 8 § &

£

Options :

1. ¥ 5 RIS
2. % 2 IRIS
3. % 4HRAS
4. % 3HIAS



Tell whether the graph is negatively skewed. What is the mean number of people?

Count

Age

Options :

1. % Yes, 20.75
2. ¥ No, 20.625
3. #¥ Yes, 39.75
4. % No, 39.75

Question Number : 60 Question Id : 9277591612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TaC fF F7 TH FoMcAS w9 ¥ favoT (Tg) §1 e fr AT §Ear #4r g2

as ] 4.1 -
40 | 35 -
35 1 3
30 4 /
25 | 2.4
Exl s
] :
s] e
0 - A - N
35 a0 as 50 60 70 80 %0
Y
Options :
1. % g1,20.75
2. ¢ 81, 20.625
3. % §l1,39.75
4. % g1, 39.75
General Hindi
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Group Id : 92775954
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General Hindi

Section Id : 92775954
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775964
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277591613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad gy d, IR fowedl § 9, 39 fdwed &1 9a7 &3, S fa=ivur & 1 arar fdwed gl
ST Th AR HUST ADR 13T |

Options :

1. % UMD

2. ¢ URHATUETES
3. % TGS
4. % fdqardas

Question Number : 61 Question Id : 9277591613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead Uy & IR fabedl & T, 39 9 ey &1 99 &<, o) fa=u & 9e arar fdbed 8|
SIS U Hier HUST AR 33|

Options :



1. % ORI
2.« GRATUEES
3. % gAAIHG
4. % Hfqdardsd

Question Number : 62 Question Id : 9277591614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fadwed! & 9, 39 [9oed &1 997 &<, Sl <1 Xeg &1 Al faded gl
Options :

1. ¢ feepe

2. % MY

3. % faeR

4. % Iufg

Question Number : 62 Question Id : 9277591614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed gy &, IR foercdl § 9, 39 fahcd &1 I8 &3, S SRSl Weg b1 T fabey 3T
Options :

1. ¢ fareH

2. ®# M

3. % faeR

4. % IHIg

Question Number : 63 Question Id : 9277591615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy d, IR faswedl T 9, 39 fdded &1 98- &, it faT U Weq o o8 et fo7] T o faug &1 faswed 1
qidle




Options :

1. % gd g off 998
2.« 91d {1 &1 agg
3. % Id & Y48

4. % G Y q9YE

Question Number : 63 Question Id : 9277591615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy d, IR faswedl T 9, 39 fdded &1 90 &, it faT T4 Weq o fo1T el fo7] T o faug &1 fased 1

qtdle

Options :

1. % Id g off 9Hg
2. « 91d {1l &1 agg
3. % Id &1 Y48

4. % I Y IYE

Question Number : 64 Question Id : 9277591616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy o, IR famedl 7 9, 39 fawed &1 997 &%, 51 AU 7T Teg & doq =a 81|
AT

Options :
1. % gy
2. % g
3. v Ty
4. % HYcl

Question Number : 64 Question Id : 9277591616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fadeul 7 ¥, 39 fdwed &1 9949 &3, S fT TN Weg &1 adHd U gl
a1

Options :
1. % gy
2. % g
3. Ty
4. % HYcl

Question Number : 65 Question Id : 9277591617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad Uy 4, TR fawel § 9, 39 [y &1 7= &3, S faehd Weg &1 Gad 5T [ gl
HIGEI!

Options :

1. # Yohd

2. % v
3. % ¥hpldc
4. FfRY

Question Number : 65 Question Id : 9277591617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fahcu &1 9g7 &3, St fadiH Weg 1 a9 3T b U B
TRy

Options :

1. % Jbhc
2. % v
3. # ¥dbldc




4. ¢ FAfdQy

Question Number : 66 Question Id : 9277591618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR faeddl | 9, 39 Agt [dded &1 I94 &, Sl d1ai2Nl & ot U Weg &1 [ddbed Bl
Sl $© 9 BT Bl

Options :

1. % HUS

2. ¢ AHHHT
3. % &«

4. % qY

Question Number : 66 Question Id : 9277591618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfaRad Uy |, IR fadwedl 7 ¥, 39 A8t [ddhcd &1 99 &y, Sl aradiell & ot U s &1 f[dwed B

Sl $& T HRAT &l
Options :

1. % HHS

2. ¢ HHUY

3. % &§H

4. % qY

Question Number : 67 Question Id : 9277591619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead uy & IR fobedl & T, 39 I8! fAhed o1 999 B, Sl faU 71U Yeg & |EY o1 &1 Ifed fAbeu g1l
EEL




Options :

Question Number : 67 Question Id : 9277591619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

froffad uy & IR fowedi § T, 3T T8 faswheu o1 Igd &3, Sl fou 7TU Yeg & ) o1 &1 I faswseu gl
EEl

Options :

1. % T

2. % o

3. ¢ dd8

4. % I

Question Number : 68 Question Id : 9277591620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy & IR fawedl 8 9, 39 el fddmed &1 997 &<, S Rad RIF & o Sugad Wee &1 g fdwed g

TRTAT Sft A S $ ferar g YT, I UGHR ANT D! ST-STIBR B T |
Options :

1.V ey

2. % Yo

3. % g

4. % TIIEd

Question Number : 68 Question Id : 9277591620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy & IR fawedl 8 9, 39 el [ddmed &1 997 &<, S Rad RIF & o Iugad e &1 g fdwed g

TRTAT Sft 4 S $ ferar g YT, I UGHR ANT D! ST-STIBR B T |
Options :

1.V ey

2. % Yo

3. % TG

4. % OIT¢d

Question Number : 69 Question Id : 9277591621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁ%ﬁ,ﬂﬂﬁﬁ@fﬁ@r,wﬁmwwwﬂ ®x, Sl HIFF A 3T T et o AR AL YN arIe Fa-TH &I Ja 33T fadhed
|

Options :
1. % 39
2. % 3
3. ¢ qHDI
4, % T

Question Number : 69 Question Id : 9277591621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁt{%ﬁ,ﬁl‘{ﬁﬂﬁﬁﬂf&dﬂﬁdw B, S HIFD | [T T Teg & IR AT Y3V dradh Ja-H &I Jad 33T [ddhed
|

Options :
1. % 34
2. % T
3. ¢ qHD]
4. % T




Question Number : 70 Question Id : 9277591622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fdwed &1 994 &3, SN ST 70 19 & &1d &1 Jel f[ddhed |

CESIRGIBIREIECaRI
Options :

1. % gH gdHHRT
2. ¢ Ul Yddb1d

3. % 30l Yd&dTd

4. % g™y gD

Question Number : 70 Question Id : 9277591622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy H, IR Al 7 ¥, 39 fadey &1 994 &3, SN feU 7T 9199 & H1d &1 Tl [dbed gl

CEIRCIEIRCIECaRIT
Options :

1. % g gqHHDBTE
2. ¢ QU Yd&hTd

3. % 3l Ydpbd

4. % iy gAAESIA

Question Number : 71 Question Id : 9277591623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy §, aR fowedl § 9, 39 fawey &1 999 &3, Sl foU U areg & fore gy & Y &1 9o 31 faweu 3|

HUAT 9 fohdTd BT Hed Idsu|
Options :




1. % Jopard
2. % Yagrd
3. % ey
4. ¢ faegd

Question Number : 71 Question Id : 9277591623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 fawey &1 999 &3, Sl foU 70 areg & fore gy & v &1 9o 31 fadwe 3|

ST 39 fobdTd ol G Jar3U|
Options :

1. % Gohard

2. % Hagrd

3. % ey

4. ¢ faaay

Question Number : 72 Question Id : 9277591624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy 8, IR fadedl & 9, 39 fddbeu &1 99+ &, Sl fav g o a1 &1 wét fabed 3l
Options :

1. ¢ TR BR [ o, u=eg 3id o s 351+ B Werdl 3

2. % TR R i ff, ureg i T SR 3514 O Tgrae bt

3. % TR R [Af¥a o tR=g 3id & 1R I514 B WerIal H1?

4. % T3 gR (AT It tR=g: 3fd & 3 I8 T TerIdl |

Question Number : 72 Question Id : 9277591624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fawedl O T, 39 fawed &1 9+ &<, SN favd forg god a1 o1 98t fddbed 81|




Options :

1. ¢ T gR (¥ I, IR=q sid T 1R 351 B gl &1l
2. % TR R YA o, IR 3fd F 3ehr I5i TR Tgrdl !
3. % TR R [Af3a o tR=g 3fd & IR 351 B Weral H1?
4. % T gR AT & IReg: 3id A 31 IgiA TR TR 1)

Question Number : 73 Question Id : 9277591625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & IR fawed # 9, 39 fadwed &1 7g- &3, off U 7T grear &1 "t o arar fawe §1

TR I -
Options :

1. % B3I HH

2. ¢ $H&dl d1d Bl
3. % AT HI AT

4. % SH Y FbAI

Question Number : 73 Question Id : 9277591625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy & IR fawed § 9, 39 fadwed &1 9a- &<, off U T TR &1 |at o ara fadwed g1

TTER ST -
Options :

1. % HfedHMH
2.« Hdl §1d Bl
3. % Y HR T

4. % TH Y FH

Question Number : 74 Question Id : 9277591626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy & IR fawed § 9, 39 fadmed &1 9a- &<, off U T8 ggTar &1 |at o ara fadwed g1

BT TR T & -
Options :

1. ¢ §gd UM BT
2. % 9gd HTH Bl
3. % I SHR B
4. % G HAR BRI

Question Number : 74 Question Id : 9277591626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawed § 9, 39 fadwed &1 7 &3, off fU U grer &1 "t 31 arar fawe ]
BTl IR G el -

Options :

1. ¢ §gd WRRE HAT
2. % §gd HIH HRAT
3. % Ygih SHR DAl
4. % ST HOR BRI

Question Number : 75 Question Id : 9277591627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR Reedl 7 9, 39 9w &1 987 &%, Y <t 715 Aipifad &1 agt 3 arar fdsea g1
WRAEF IR B -

Options :

1. % JAY THH B Bl

2. ¢ qaD! U I R g
3. % 304 HTH Y AdAd 3@




4. ® TR I UGA ST §

Question Number : 75 Question Id : 9277591627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR faeeal ° T, 39 ey &1 Tu &, 51 <1 718 dibifad &1 agt 3 aren fdseu g1
RRUTF RS -

Options :

1. % U TP BT DRl

2. ¢ gab! U I gRRUT 8T
3. % 304 HH I AdAd 3@

4. % TR (I VS BT §

Sub-Section Number : 2
Sub-Section Id : 92775965
Question Shuffling Allowed : No

Question Id : 9277591628 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

T U T TepTR o EYde Ue SR Ud® Uy HI Fad SR g |

Hed ¢ A fob afe T 1 oe @t B1s t SR guf 81 &R e @it | 3iR afe T IS Ud IHRIAS 81 dl a8 UfasT Ud Bra sifofd
R T g | T DI gH Y7 U 8 Tohd 6, S gasiard off i IHY Tl dl IFARTHAY oI DHIcor! Hid B a1 g8 | HRIETS, 9a
3f1fe A o IRER MaTd &1 4= § g1 e ditd [hdT | g 99 H off $& WRIgSR! FHTe Ao gRT GHTS & S T4 Hedul &I e
PO TU UHR A 3! § b AN 30 3TH-UN o e quT {Usg ol & s=f Bl RITA B BT DT DR AT I T4t G TG fa=m
T R g o | forsht 1wt o My & f3gRa Nl &l Hrad g &1 @ ¢ al fhdl &1 TR 91 &1 &l JRpal § Aed Uga™ &I e
g1 ST &1 T8 AR U URERTSH TYT TR B 3 9611 &1 @ 1 U g &1 e § — Ufari &1 a1 S1a- &I, I U &
TYT I U-UfErT BT IUDR 31 SR o =0 U, 3fch: T b1 Gl pis Ul 81 WD Td GhRIAD T A= g1 aniey, fora gae
&) g <M, M Ud TYUIT FradhH BT <8 e T |

Sub questions

Question Number : 76 Question Id : 9277591629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UfIST Ud W1Td 8TRId B & [l Sita- H @9 &1 94T 32 §IHT aTed?

Options :

1. % ITAHD Td THRIHD

2. % Ul R @B

3. % Tl ol Ul PRb 31T dg Bl
4. ¥ JTTATHD Td YhRIHD

Question Number : 77 Question Id : 9277591630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$S WITHR! TS VT gRT GHTS & fod B T S 32
Options :

1. ¢ I Td BTl I

2. % WU b HeA Dl

3. % 9 U9 Uss & &t

4. % TRA AN B DI o Bl

Question Number : 78 Question Id : 9277591631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T fUess ot o sl o) RIf&d B T FHTST IR o1 YHTd g
Options :

1. % O g

2. % §gd TY BTG

3. ¢ 78 =1 Ud famm ferert

4. % U M U4 fa=m 4 ge Sy

Question Number : 79 Question Id : 9277591632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad & 3 oF 91 7 &1 gamnif weg A 82
Options :
1. % ¢
2. % I
3. % f§1
4. % Hg

Question Number : 80 Question Id : 9277591633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3¢ DI DIy IUYH MYD:
Options :

1. % Yri o

2. ¢ TH Bl GHRIHDB]

3. % [HYA

4. % UfasT U sreATfd

Question Id : 9277591628 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (76 to 80)

T U T MerTR t wde ue SR Udd U &1 Faad IR I |

®ed g 1 & IS T T S @ DI it S guf g R 78 @l | 3R afe & T T Ud RIS 81 dl a8 UiasT ud e sifsia
R Al 8 | T B gH Y7 1l 8 Thd 8, S Jadiiar oif Bl IHY Tt dl IFARTHT oI DHIcorl Hid B a1 g8 | HRIETs, 9d
3ffe A < TRER MaTd &1 =1 H g1 Sfia citd (| aad 99 § off $8 WRITeR! T Aaa) gRT GHTS & S U4 Hedivl & v
S T UDR THA 3181 g b AT 3 319-ur o Fel 1 s a7 & sl bl FRITEd 1 1 1Y o JHIS 1 T4t =11 T famm
TEH B % & | fdlt &1 afal & Aram H fEgRd ATl & Siad 3G &1 T g dl [ha! &I TRH I1 &1 &1 bl 3 q8d IgdH &1 o
21 a1 81 181 SHRY Ui TRIRTSH T WG &) 31 Fg Bt v ot Urd: S 1 et § - uférdl ol M1 S1em B, urt fema @
YT IS UY-UiErl T ITAR 311G 1 o U H. 3(d: A &1 Gl Bis N 81 I DT Td HRIADT A= it dTey, o wqre
&1 TG <M, TGN Ud TYUT FEDHH BT G ¥ [Hd T |

Sub questions




Question Number : 76 Question Id : 9277591629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UfIST Ud W1 BTRId B & [l Sifa- H @9 &1 9T 329 84T aTied?
Options :

1. ® THATHD Ud THRIHD

2. % 3qUl 3R AFH

3. % Tl &l Ul PR 31 dg Bl

4. ¢ ITATHS Ud GHRIHD

Question Number : 77 Question Id : 9277591630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$S WITHR! FHT AT GRT GHTST & [T B! T S g2
Options :

1. ¢ I Td BT i

2. % U P DI DI

3. % 9 Td U1 e i

4. % TRA AN B DI o Bl

Question Number : 78 Question Id : 9277591631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Tt g avf & s=if ol R R T AT IR o1 THTE g
Options :

1. % Uiy g

2. % §gd Gd BTG

3. ¢ 93 aR1T Ud = e

4. % (U1 R TG TG g S

Question Number : 79 Question Id : 9277591632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FEfRed & ¥ D 91 a7 &1 GaHTRH ea 781 52
Options :

1. % Y-

2. ¥ P

3. % famr

4. % Qg

Question Number : 80 Question Id : 9277591633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T QBT HIs Iugad Xe:
Options :
1. % I URARTel
2. ¢ T Bl GHRIADB
3. % HYA
4. ® yfdgIud srafd

General English
Group Number : 5
Group Id : 92775955
Group Maximum Duration : 0
Group Minimum Duration : 0
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General English

Section Id : 92775955
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Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 92775966
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277591634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hopes of a title hat-trick/ hangs by a thread, but/ all is not quite lost.
Options :

1. * Hopes of a title hat-trick

2. % hangs by a thread, but

3. # all is not quite lost.

4. # No Error

Question Number : 81 Question Id : 9277591634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hopes of a title hat-trick/ hangs by a thread, but/ all is not quite lost.
Options :



1. # Hopes of a title hat-trick
2. % hangs by a thread, but

3. # all is not quite lost.

4. % No Error

Question Number : 82 Question Id : 9277591635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The term does not appear/ to have been used in taxation/ from the 18th century.
Options :

1. # The term does not appear

2. # to have been used in taxation

3. % from the 18th century.

4. ¥ No Error

Question Number : 82 Question Id : 9277591635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The term does not appear/ to have been used in taxation/ from the 18th century.
Options :

1. * The term does not appear

2. # to have been used in taxation

3. % from the 18th century.

4. % No Error

Question Number : 83 Question Id : 9277591636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The lady asked (where she was going.)
Options :

1. # "where she was going."

2. # where she was going?

3. % where was she going?

4. ¥ No correction required

Question Number : 83 Question Id : 9277591636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The lady asked (where she was going.)
Options :

1. # "where she was going."

2. ®# where she was going?

3. % where was she going?

4. ¥ No correction required

Question Number : 84 Question Id : 9277591637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In that manner his influence, as represented (by text of many a statutes regulating) the relations between Austria and Hungary, is one of an
abiding character.

Options :

1. #* texts of many a statutes regulating



2. ¥ by text of many statute regulations
3. % in text of many a statute regulating

4. # No correction required

Question Number : 84 Question Id : 9277591637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In that manner his influence, as represented (by text of many a statutes regulating) the relations between Austria and Hungary, is one of an
abiding character.

Options :

1. # texts of many a statutes regulating
2. ¥ by text of many statute regulations
3. # in text of many a statute regulating

4. # No correction required

Question Number : 85 Question Id : 9277591638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

In many cities, police corruption is a issue that touches all communities.
Options :

1. * non-invasive

2. ¥ pervasive

3. # dissuasive

4. % abrasive

Question Number : 85 Question Id : 9277591638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice.

In many cities, police corruption is a issue that touches all communities.
Options :

1. * non-invasive

2. ¥ pervasive

3. # dissuasive

4. % abrasive

Question Number : 86 Question Id : 9277591639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If you are on a diet, you must use to stop yourself from eating foods you shouldn’t so that you keep your weight in check.
Options :

1. # perseverance

2. ¥ temperance

3. * intolerance

4. % exuberance

Question Number : 86 Question Id : 9277591639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If you are on a diet, you must use to stop yourself from eating foods you shouldn’t so that you keep your weight in check.
Options :

1. ¥ perseverance

2. ¥ temperance

3. # intolerance

4. % exuberance



Question Number : 87 Question Id : 9277591640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

In the early 1900s the transatlantic passenger trade was highly profitable and competitive, with ship lines vying to transport wealthy travelers and
immigrants.

P. Two of the chief ship lines were White Star and Cunard.

Q. Looking to answer his rival, White Star chairman J. Bruce Ismay reportedly met with William Pirrie, who controlled the Belfast shipbuilding
firm Harland and Wolff, which constructed most of White Star’s vessels.

R. The two passenger liners were garnering much attention for their expected speed; both would later set speed records crossing the Atlantic
Ocean.

S. By the summer of 1907, Cunard seemed poised to increase its share of the market with the debut of two new ships, the Lusitania and the
Mauretania, which were scheduled to enter service later that year.

The two men devised a plan to build a class of large liners that would be known for their comfort instead of their speed; it was eventually decided
that three vessels would be constructed: the Olympic, the Titanic, and the Britannic.

Options :

1. ¥ PRSQ
2. % QPRS
3. % PSRQ
4. % RPQS

Question Number : 87 Question Id : 9277591640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

In the early 1900s the transatlantic passenger trade was highly profitable and competitive, with ship lines vying to transport wealthy travelers and
immigrants.

P. Two of the chief ship lines were White Star and Cunard.

Q. Looking to answer his rival, White Star chairman J. Bruce Ismay reportedly met with William Pirrie, who controlled the Belfast shipbuilding
firm Harland and Wolff, which constructed most of White Star’s vessels.

R. The two passenger liners were garnering much attention for their expected speed; both would later set speed records crossing the Atlantic
Ocean.

S. By the summer of 1907, Cunard seemed poised to increase its share of the market with the debut of two new ships, the Lusitania and the



Mauretania, which were scheduled to enter service later that year.
The two men devised a plan to build a class of large liners that would be known for their comfort instead of their speed; it was eventually decided
that three vessels would be constructed: the Olympic, the Titanic, and the Britannic.

Options :

1. ¥ PRSQ
2. % QPRS
3. ¥ PSRQ
4. % RPQS

Question Number : 88 Question Id : 9277591641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

deride
Options :

1. # admire
2. # revere
3. # abstain
4. ¢ disdain

Question Number : 88 Question Id : 9277591641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

deride
Options :

1. # admire
2. ® revere
3. # abstain
4. ¢ disdain



Question Number : 89 Question Id : 9277591642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

cogent

Options :

1. % compelling
2. ¥ ineffective
3. % forcible

4. % relevant

Question Number : 89 Question Id : 9277591642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

cogent

Options :

1. # compelling
2. ¥ ineffective
3. % forcible

4. % relevant

Question Number : 90 Question Id : 9277591643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # calumy

2. % calumny

3. # columny

4. # columy



Question Number : 90 Question Id : 9277591643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % calumy

2. % calumny

3. ® columny

4. ¥ columy

Question Number : 91 Question Id : 9277591644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # contensious

2. # contenious

3. % contentious

4. % contentuous

Question Number : 91 Question Id : 9277591644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # contensious

2. # contenious

3. % contentious

4. % contentuous

Question Number : 92 Question Id : 9277591645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Ivory tower

Options :

1. ¢ Imaginary world

2. % With the inside facing the outside

3. # A competition where the outcome is difficult to judge or predict

4. ® Under firm control, well managed

Question Number : 92 Question Id : 9277591645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Ivory tower

Options :

1. ¥ Imaginary world

2. % With the inside facing the outside

3. # A competition where the outcome is difficult to judge or predict

4. ® Under firm control, well managed

Question Number : 93 Question Id : 9277591646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. % To politely ask for someone’s full attention
3. # To understand the details



4. % Unable to understand

Question Number : 93 Question Id : 9277591646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Leave no stone unturned

Options :

1. ¥ Make all possible efforts

2. # To politely ask for someone’s full attention
3. # To understand the details

4. % Unable to understand

Question Number : 94 Question Id : 9277591647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Used in reference to luxurious accommodations
Options :

1. ¥ Rigmarole

2. ¥ Ritz

3. % Reverence

4. % Rickety

Question Number : 94 Question Id : 9277591647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Used in reference to luxurious accommodations
Options :



1. # Rigmarole
2. ¥ Ritz

3. % Reverence
4. # Rickety

Question Number : 95 Question Id : 9277591648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Persons who are unfairly blamed for something that othershave done
Options :

1. ¥ Scapegoat

2. % Screech

3. % Scullery

4. % Sangfroid

Question Number : 95 Question Id : 9277591648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Persons who are unfairly blamed for something that othershave done
Options :

1. ¥ Scapegoat

2. # Screech

3. % Scullery

4. ® Sangfroid

Sub-Section Number : 2
Sub-Section Id : 92775967
Question Shuffling Allowed : No

Question Id : 9277591649 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions :



No
Question Numbers : (96 to 100)
Read the passage carefully and answer the question given below.

Until widespread clearing of land began after 1861, the Tweed Valley, from the beach dunes to the mountains, was covered by dense wetland
forests and rainforest. The rainforest had plenty of red cedar, which grew along the river banks and over the floodplains and foothills. Some of
these trees were huge, up to sixty metres tall and as much as two thousand years old. Cedar was highly valued for its light weight, rich pink to red
colours and interesting grain patterns. The tall trees provided magnificent lengths for the mills. Much early Australian furniture was made from
cedar. The timber of the Tweed Valley was felled close to the river banks and then was tied and floated downstream to the river mouth for
shipping to the big cities. The river provided the only means of moving the timber, because the felled trees were so bulky. By the 1870s, the cedar
industry was on the decline. Land cleared for farming was on the increase and easily obtainable, and large cedar trees were becoming scarce. It
was purely an extractive industry, which put nothing back. Given that many original trees were thousands of years old, it would have been
hundreds of years before the plantings could have been harvested in any case.

Sub questions

Question Number : 96 Question Id : 9277591650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the widespread clearing of land begin in the Tweed Valley?
Options :

1. ¥ After 1861

2. % In 1861

3. % In 1870

4. % By the 1870

Question Number : 97 Question Id : 9277591651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of tree was Tweed Valley known for?
Options :

1. ¥ Red Cedar

2. # Silver Birch

3. % Giant Sequoia

4. ¥ Weeping Willow



Question Number : 98 Question Id : 9277591652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an attribute of the Cedar tree?
Options :

1. ¥ Resistance of parasites

2. # Light Weight

3. % Grain Patterns

4. # Rich pink and red colour

Question Number : 99 Question Id : 9277591653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is INCORRECT?
Options :

1. # By the 1870s, the cedar industry was on the decline.

2. ¥ The land clearing of the Tweed Valley began in 1861.

3. % Much early Australian furniture was made from cedar.

4. # Cedar trees took hundred's of years before they could be harvested.

Question Number : 100 Question Id : 9277591654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the only means of moving the cedar timbre?

Options :

1. # Transporting it using machinery to move it to the river banks.
2. # Floating it upstream to the river bank.

3. ¥ Floating it downstream to the river mouth.

4. % Transporting it using ships to move it to big cities.

Question Id : 9277591649 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension Questions :
No

Question Numbers : (96 to 100)



Read the passage carefully and answer the question given below.

Until widespread clearing of land began after 1861, the Tweed Valley, from the beach dunes to the mountains, was covered by dense wetland
forests and rainforest. The rainforest had plenty of red cedar, which grew along the river banks and over the floodplains and foothills. Some of
these trees were huge, up to sixty metres tall and as much as two thousand years old. Cedar was highly valued for its light weight, rich pink to red
colours and interesting grain patterns. The tall trees provided magnificent lengths for the mills. Much early Australian furniture was made from
cedar. The timber of the Tweed Valley was felled close to the river banks and then was tied and floated downstream to the river mouth for
shipping to the big cities. The river provided the only means of moving the timber, because the felled trees were so bulky. By the 1870s, the cedar
industry was on the decline. Land cleared for farming was on the increase and easily obtainable, and large cedar trees were becoming scarce. It
was purely an extractive industry, which put nothing back. Given that many original trees were thousands of years old, it would have been
hundreds of years before the plantings could have been harvested in any case.

Sub questions

Question Number : 96 Question Id : 9277591650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the widespread clearing of land begin in the Tweed Valley?
Options :

1. ¥ After 1861

2. % In 1861

3. % In 1870

4. % By the 1870

Question Number : 97 Question Id : 9277591651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of tree was Tweed Valley known for?
Options :

1. ¥ Red Cedar

2. # Silver Birch

3. % Giant Sequoia

4. ¥ Weeping Willow

Question Number : 98 Question Id : 9277591652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an attribute of the Cedar tree?
Options :

1. ¥ Resistance of parasites

2. # Light Weight

3. % Grain Patterns

4. # Rich pink and red colour

Question Number : 99 Question Id : 9277591653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is INCORRECT?
Options :

1. # By the 1870s, the cedar industry was on the decline.

2. ¥ The land clearing of the Tweed Valley began in 1861.

3. % Much early Australian furniture was made from cedar.

4. # Cedar trees took hundred's of years before they could be harvested.

Question Number : 100 Question Id : 9277591654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the only means of moving the cedar timbre?

Options :

1. # Transporting it using machinery to move it to the river banks.
2. # Floating it upstream to the river bank.

3. ¥ Floating it downstream to the river mouth.

4. % Transporting it using ships to move it to big cities.
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Question Number : 101 Question Id : 9277591655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can be introduced in a garment by fitting tucks and darts.

Options :

1. * Decorative Lines
2. % Structural Lines
3. # Diagonal Lines

4. # Horizontal Lines



Question Number : 101 Question Id : 9277591655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
®I TH 3R ST fihe Hh IRYH H U] a1 ST Ihell 6|
Options :
1. % Folradt @My
2.« HATHD WY
3. % fqopui Xy
4. % &fas @

Question Number : 102 Question Id : 9277591656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three dimensional model made using the Munsell's system is called?
Options :

1. # Color Wheel

2. # Color System

3. % Color Tree

4. # Color Theory

Question Number : 102 Question Id : 9277591656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YU &1 SUART S §18 7Y Ffaw Ared o1 o1 Hgl offdl 62
Options :

1. % gui ufgar

2. % guf gomredt

3. QUi gg

4. % gui Rygrd

Question Number : 103 Question Id : 9277591657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these do NOT help in the creation of emphasis?
Options :

1. # Contrasting textures

2. # Grouping tucks, ruffles and trims

3. # Placement of decoration

4. ¥ Consistent texture

Question Number : 103 Question Id : 9277591657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead & 2 19 ugEar & fFafor & geg T8 wrarg?
Options :

1. ® DRI §TGC

2. % O, I 3R R & YEipd BT

3. % Tollde BT R

4. ¢ AR CRITR

Question Number : 104 Question Id : 9277591658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The earrings have a hinged closure.
Options :

1. # Drop

2. # Tear Drop

3. % Latch Back

4. # Chandelier

Question Number : 104 Question Id : 9277591658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 105 Question Id : 9277591659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ring lifts the center stone higher than its band.
Options :

1. % Triology

2. % Halo

3. # Stack

4. % Cathedral

Question Number : 105 Question Id : 9277591659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &% & TR B 307 o8 ¥ SW 3T 5
Options :
1. % graeisit
2. % gdl
3. % WH
4. IS

Question Number : 106 Question Id : 9277591660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The is a low cut shoe with a strap running across the instep.



Options :

1. # Open Toe
2. # Sling Backs
3. % Mary Jane
4. ¥ Mules

Question Number : 106 Question Id : 9277591660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH @ He Y g Ford €U ST & SRR a1 |
Options :
1. % ol 3T aTel Sl
2. % T 9P
3. IRSA
4. % d

Question Number : 107 Question Id : 9277591661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is a small clutch with hard sides and a hinged frame, without handles or a strap.
Options :

1. % Baguette

2. ¥ Minaudiere

3. % Satchel

4. % Wristlet

Question Number : 107 Question Id : 9277591661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHAR 1SS 3R Id a1d IH, f9H1 85 U1 LU H1 U Slel aad 7

Options :




1. % 9l

2. ¢ fiFifew

3. % Yoad

4. % 1A (Reda)

Question Number : 108 Question Id : 9277591662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The has a saucer shaped design.
Options :

1. # Ascot Cap

2. ¥ Cartwheel Hat

3. % Visor

4. % Fiddler

Question Number : 108 Question Id : 9277591662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Tt SR &1 fSemz ]

Options :

1. % 3RPIC B

2. ¢ HIcagld cIdl

3. % dIgeiR

4. % BIgeR

Question Number : 109 Question Id : 9277591663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

burns easily with a bright flame to grey ash with a smell of burning paper.
Options :
1. % Silk



2. % Cotton
3. % Rayon
4. % Wool

Question Number : 109 Question Id : 9277591663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST 88 BTN b1 7Y & 1Y THB I o I YIR I dP SIeldl 3 |
Options :
1. % 37M
2. % DU
3. % M
4, % H

Question Number : 110 Question Id : 9277591664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To avoid over bleaching, the chlorine bleach water temperature should not exceed
Options :

1. ¥ 160°F

2. % 120°F

3. % 100°F

4. % 180°F

Question Number : 110 Question Id : 9277591664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{fereh fa¥ST & s & fore, IR IS Ui b1 dTaHT 3 3 T8 g =BT
Options :

1. ¥ 160°F

2. #% 120°F



3. ¥ 100°F
4. % 180°F

Question Number : 111 Question Id : 9277591665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  zipper of fasteners has one row of visible stitches on the outside.
Options :

1. % Centered

2. ¥ Lapped

3. # Fly front

4. % Invisible

Question Number : 111 Question Id : 9277591665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BReRi b R 918 B R TXHHA < 1 UH 3 gl g
Options :

1. % Bfgd

2. ¥ dWS

3. % TS Whe

4. % 3

Question Number : 112 Question Id : 9277591666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
stitch is typically used in jacket and jeans to prevent fraying.
Options :
1. * Single thread chain stitch
2. # Flat seam stitch
3. % Multi thread chain stitch



4. ¥ Overedge stitch

Question Number : 112 Question Id : 9277591666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SR WR Sidhe TR S | Tt &1 A & forT IuanT fbar S 5 |
Options :
1. % Tobd YT o Ryelrs
2. % Tl Hiad o (W) R
3. % TSRS YT o Ryerrs
4. ¢ JavuS A

Question Number : 113 Question Id : 9277591667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sleeve is developed by enlarging the biceps and cap area, tapering the fullness towards the elbow level.
Options :

1. # Puffsleeve

2. % Leg of mutton sleeve

3. % Raglan sleeve

4. % Bell sleeve

Question Number : 113 Question Id : 9277591667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U 3R

2. ¢ T K &I o
3. % YATA S

4. % 9 M




Question Number : 114 Question Id : 9277591668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tuck produces a scalloped edge.
Options :

1. # Pin

2. % Shell

3. #® Cross

4. % Space

Question Number : 114 Question Id : 9277591668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ TH DA T I BT g
Options :

1. % fuq

2. ¥ Td

3. % B

4. % WY

Question Number : 115 Question Id : 9277591669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seam which has been pressed open and stitched parallel to and on both sides of the seam is known as?
Options :

1. ¥ Double top stitched seam

2. # Mock French seam

3. # Gathered seam

4. # Flat felled seam

Question Number : 115 Question Id : 9277591669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ S9d 1 Ryl g3 i s (31m)

2. % i Thd Tla- Sie (TH)

3. % fmer g dta sie (3m)

4. % Tl Bas Yiga o ()

Question Number : 116 Question Id : 9277591670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total costing of particular style and placement of orders is the responsibility of the
Options :

1. ® Sampling Merchandiser

2. ® Sourcing Merchandiser

3. ¥ Buying house Merchandiser

4. ® Planning Merchandiser

Question Number : 116 Question Id : 9277591670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfder ARt

2. % Hid AURI

3. ¢ Y BI3Y ATURY

4. % YISHT YR

Question Number : 117 Question Id : 9277591671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these processes in Fashion Merchandising analyses the forecasting reports?
Options :

1. # Sample Development

2. % Range Development

3. ¥ Design Development

4. % Sourcing

Question Number : 117 Question Id : 9277591671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AT fahry

2. % S fapry

3. ¢ {&uiTe fdbT

4. % IRfT

Question Number : 118 Question Id : 9277591672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
merchandising refers to all promotional activities used to sell a product online.
Options :
1. # Product
2. # Retail
3. ¥ Digital
4. % Visual

Question Number : 118 Question Id : 9277591672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3dlq
2. % daXl
3. ¢ f&fored
4. % fao[3(d

Question Number : 119 Question Id : 9277591673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The merchandising is associated with creation of a unified customer experience across all possible touchpoints of the customer
journey.

Options :

1. # Digital

2. # Retail

3. % Omnichannel

4. # Visual

Question Number : 119 Question Id : 9277591673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$I-[aehy Ted T & Tt UG ca@ge IR Tdhidhd A SIHT & A0 I ST 8|
Options :
1. % fefored
2. % JeT
3. ¢ SfERAA
4. % fag]erd

Question Number : 120 Question Id : 9277591674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The of a fashion illustration is an imaginary straight line that drops from the pit of the neck through the pose.



Options :

1. # Action

2. ¥ Balance Line
3. % Style Line
4. # Shadow Line

Question Number : 120 Question Id : 9277591674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fomor HTeai-e Href T § S TSt & A1eH | T & 7T I Wl g

Options :
1. % B
2. ¢ oo TR
3. % I digd
4. % QNI g
Discipline2
Group Number : 7
Group Id : 92775957
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2

Section Id : 92775957



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775969
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277591675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pencil strokes produces rapid, regular and evenly spaced lines leaving white paper or underlying color showing.
Options :

1. * Pointillism

2. * Stippling

3. * Cross-Hatching

4. ¥ Hatching

Question Number : 121 Question Id : 9277591675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URIE Kb Tthe BT A1 Sfaf-fed 1 el &1 Blgax duit ¥, Fafird ik T0H g arelt YaT 307 Hdl |

Options :

1. % Trsfefered
2. % o
3. % BHIg-gfi
4.« g

Question Number : 122 Question Id : 9277591676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a technique of illustration?
Options :

1. # Gouache

2. ¥ Macrame

3. % Concept Art

4. # Vector Graphics

Question Number : 122 Question Id : 9277591676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

370 O -7 oz ) uRuRe a1 3yfHes T el 82
Options :

1. % 19

2. ¥ HhH

3. % DAY 3T

4. % g AMthay

Question Number : 123 Question Id : 9277591677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the , a trapezoid shape is drawn to build a human form.
Options :

1. ¥ Torso

2. # Head

3. % Legs

4. % Shoulders

Question Number : 123 Question Id : 9277591677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& o, AMd U §91 & AT THTETIHR ST §15 S 8 |
Options :
1.V Y3
2. % RR
3. % W
4. % HY

Question Number : 124 Question Id : 9277591678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A lace which has two scalloped edges is called
Options :

1. ¥ Galloon lace

2. % Edge Lace

3. ¥ Medallion

4. % Insertion lace

Question Number : 124 Question Id : 9277591678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A9 o & Whas fFR 81d €, 39 HET A 5
Options :

1. ¢ T ol

2. % T Y

3. % MAPR Uadb (HSfIT)

4. % AT oY (3T 9)

Question Number : 125 Question Id : 9277591679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a fringe is made with metallic yarn.



Options :

1. # Shimmy fringe
2. ¥ Kiran

3. % Tassel Fringe

4. ® Pompom Fringe

Question Number : 125 Question Id : 9277591679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT & UH J T SR ¢ |

Options :

1. * fRedt gmer

2. ¢ faRul

3. % ¢Ichq IR

4. % OO R

Question Number : 126 Question Id : 9277591680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Matte, hologram, pearl and coated are associated with which of these?
Options :

1. # Fringe

2. % Tassel

3. % Applique

4. ¥ Sequin

Question Number : 126 Question Id : 9277591680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, gream, Jidl SR dics Fafiiad § 3 feay d&fta 82

Options :



1. % R
2. # TSI
3. % oIl
4. ¢ feA

Question Number : 127 Question Id : 9277591681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the smocking technique, only Cable and Trellis stitch are used.
Options :

1. ¥ Geometric

2. % Mock

3. % Lattice

4. % Reverse

Question Number : 127 Question Id : 9277591681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIb (T debrles | badt beret 3R ¢ferd Rietrs o1 SuahT fobar S 81
Options :
1. ¢ SIHfds
2. % Oidh
3. % el
4. % 3dcHl

Question Number : 128 Question Id : 9277591682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Measuring points, grading increment and tolerance is a part of

Options :
1. ¥ Sample Specification Sheet



2. # Trim Specification Sheet
3. # Fit and Approval Specification Sheet
4. ® Production Specification Sheet

Question Number : 128 Question Id : 9277591682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 & foig, AFET g IR ey e @iy EARCARRIE]
Options :

1. ¢ AT fafryar v

2. % feu fafydr wdh

3. % flhe SR e fafydr =

4. % IdTe ARV e (UreaRH Whd e M)

Question Number : 129 Question Id : 9277591683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The indicates the acceptable number of inches. Plus or minus, over specified quality standards.
Options :

1. ® Garment Measurement

2. ¥ Tolerance

3. # Point of Measure

4. ® Point of Measure Code

Question Number : 129 Question Id : 9277591683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST D! MBI T I ST 8 | W T A, FEH orad AH®! ¥ $ifiew |

Options :
1. % gRYM A

2. ¥ 30T ¢ (CTeRkA)



3. % O & fdg
4. % MU fdg pre

Question Number : 130 Question Id : 9277591684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Button and patches placement information are mentioned in which of these key elements of Specification Sheets?
Options :

1. # Production

2. % Trim

3. % Fit and Approval

4. # Sample

Question Number : 130 Question Id : 9277591684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARy T & 37 U@ dal # ¥ frad g iR U RIFH (@He) YT 1 3o T T g2
Options :

1. % 3dlad

2. ¢ feH

3. % flhe R Wipfd

4. % T

Question Number : 131 Question Id : 9277591685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a key point of a Specification Sheet?
Options :

1. % Embroidery instruction

2. # Stitch instruction

3. % Measurement instruction



4. ¥ Promotional Strategies

Question Number : 131 Question Id : 9277591685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9§ P fafear we &1 g fog et 82
Options :

1. % Hgls M

2. % e g

3. % A e

4. ¢ YRR IRl

Question Number : 132 Question Id : 9277591686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The of a Specification Sheet specifies details such as types of seam.
Options :

1. % Technical Drawing

2. ¥ Construction Specifications

3. ¥ Measurements

4. % Fabric Details

Question Number : 132 Question Id : 9277591686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o mes eru Ay wrar g SR f$ e Sis @\) & ueR|
Options :

1. % qh-IDl R

2. ¢ fmfor AfESieR

3. % HUq

4. ® Husl faavur



Question Number : 133 Question Id : 9277591687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main objective of the increase the productivity in the inspection process.
Options :

1. % Computer Aided Process Planning

2. % Computer Aided Quality Control

3. % Numerical Control

4. % Computer Aided Testing

Question Number : 133 Question Id : 9277591687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 HB 359 FRIGT Ufha # Sargehdl | gl A&
Options :
1. % HER g S Ush D
2. ¥ SR Y ura (=0
3. % TBHTHD [0
4. % HYEX TEH URI&UI

Question Number : 134 Question Id : 9277591688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a system for automated planning and control of production operation.
Options :
1. % CAE
2. % CAD
3. % PDM
4. ¥ CAM

Question Number : 134 Question Id : 9277591688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
T Ao 3R ITEA JaTer & (a0 & fre yorreft 5|
Options :
1. # CAE
2. % CAD
3. ¥ PDM
4. ¥ CAM

Question Number : 135 Question Id : 9277591689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of PDM?

Options :

1. % Pattern Data Management

2. ¥ Product Data Management

3. # Product Development Management

4. % Pattern Development Management

Question Number : 135 Question Id : 9277591689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PDM &1 JUf &9 &7 §?
Options :

1. % Te- SeT AnvHc

Question Number : 136 Question Id : 9277591690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



is the process of setting the value or cost at the right level.
Options :
1. # Financing
2. ¥ Pricing
3. # Promotion
4. # Distribution

Question Number : 136 Question Id : 9277591690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 97 AT ) Tgt TR R T B3 B ufhar gl
Options :
1. # foritg
2. ¢ g YR
3. % UdR
4. % fqRU

Question Number : 137 Question Id : 9277591691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The strategy focuses on entering new markets with existing products
Options :

1. % Market penetration

2. % Product development

3. ¥ Market development

4. % Relationship Marketing

Question Number : 137 Question Id : 9277591691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT SMTGT o 1Y AU STofRT H To=] B+ IR dhisd 5



Options :

1. % SR H yax
2. % IdIG f[ddbr™
3. ¢ SR B fdbTd
4. % fx=ar fagoH

Question Number : 138 Question Id : 9277591692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trading value for offerings is associated with which of the activities of marketing?
Options :

1. # Creating

2. # Delivering

3. % Exchanging

4. ¥ Communicating

Question Number : 138 Question Id : 9277591692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTa (3ATBT) F forg samanies A oo @t feg nfafafy @ gefia g2
Options :

1. # -1

2. % fEeflat &

3. % 3lald Yald

4. ¥ IIR

Question Number : 139 Question Id : 9277591693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is the fourth step of one-to-one marketing?
Options :



1. #® Identify customers
2. ¥ Interact with customers, targeting the best ones
3. % Establish short term measures

4. # Differentiate among customers

Question Number : 139 Question Id : 9277591693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR § § P 1 a--a HIh &1 T AT aR0T 32
Options :

1. % YIgeh] bl Ugd H

2. ¥ YIgehl & 1Y STAdid DY, 9F DI WAl&rd D

3. % 3{cUpIicich JUTH RITUT DY

4. % YIgh] & oI 3R

Question Number : 140 Question Id : 9277591694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Trickle-Across theory is also known as

Options :

1. # Upward Flow Theory
2. # Bottom-Up Theory
3. % Mass Dissemination

4. ® Reverse Adoption Theory

Question Number : 140 Question Id : 9277591694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feema-umrg Rigid & & ® g H Ht TSI g |

Options :

1. % JuRgdl yare Rigid (31Uds Tl i)




2. % U Rigid (dlcH-310 2_)
3. ¢ S TR
4. % Rad ofiyrgu Rigid (Rav termm i)

Discipline3
Group Number : 8
Group Id : 92775958
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 92775958
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775970
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277591695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A style introduced among the top strata and gradually diffused among the lower strata is known as which of the following?
Options :

1. # Mass market Theory

2. % Upward Flow Theory

3. # Bottom-Up Theory

4. ¥ Trickle-Down Theory

Question Number : 141 Question Id : 9277591695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X TR & S Y B 1 ol SR Fea wWRl & offg 9R-eR ot 8, 39 e 3 3 fg w0 & S s g2
Options :

1. % O ATdbe Rgid

2. % IJURTE! vaTe Risid (sras wall &)

3. % UMY Rgid (dfed-31g AR

4. ¢ e d-S13 Rigid

Question Number : 142 Question Id : 9277591696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  theory primarily focuses on the aesthetic expression of the garment.
Options :

1. # Projection

2. % Modesty

3. ¥ Adornment

4. ¥ Immodesty

Question Number : 142 Question Id : 9277591696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIGid 77 U 9 uRy™ &1 died sffiafad R Higd g




Options :

1. % g&yu
2. % giid

3. ¢ 3B

4. % 3RYyar

Question Number : 143 Question Id : 9277591697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a loosely woven fabric coated with adhesives and used to provide support and shape retention to necklines collars and cuffs.
Options :
1. ¥ Cheese Cloth
2. # Drill
3. % Buckram
4. % Khadi

Question Number : 143 Question Id : 9277591697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST FT g3 HUST § Ol RIS & 1Y AT g 3R TH s BIeR 3R $W B THUT 3R SMHR UAUR Y& HRA & forg
ST far ST B |
Options :
1. % ISl pUST
2. % fgd
3. ¥ dhIH
4. % @rat

Question Number : 144 Question Id : 9277591698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is NOT an essential parameters of the fabric property for a swimming suit?



Options :

1. # Low moisture absorption rate
2. % Quick drying

3. % Sweat Management

4. % Chlorine Resistance

Question Number : 144 Question Id : 9277591698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad # 3 o1 a1 faftin ge & e $us & 11ur o1 3ifard Auds 78 82
Options :

1. % ¥ TH YU R

2. % RAYEATS

3. ¢ G Ueie

4. % IR UfaRIY

Question Number : 145 Question Id : 9277591699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shrinkage allowance of is considered acceptable as per industry standards.
Options :

1. % 40%

2. % 30%

3. % 50%

4. % 60%

Question Number : 145 Question Id : 9277591699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T AFDI & AR BT AT IR T HT STl g |

Options :




1. #® 40%
2.9 30%
3. % 50%
4. % 60%

Question Number : 146 Question Id : 9277591700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The silhouette is fitted under the bustline and loosely fitted thereon.
Options :

1. # Yoke

2. # Tent

3. % Shift

4. ¥ Empire

Question Number : 146 Question Id : 9277591700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Riege BT 3T (Feds) & 1 ftbe faar T g ik 39 W &l fibe far m g
Options :
1. % gl
2. % ¢
3. % e
4, % THIRR

Question Number : 147 Question Id : 9277591701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The goes through bust point absorbing the dart value into the panel line.
Options :

1. # Empire Line



2. #* Sheath Line
3. % Princess Line
4. % A-Line

Question Number : 147 Question Id : 9277591701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e @13 | ST AF & ST B aTal BTt g 3 ToRar g
Options :
1. # THTOR dig-
2. % Y AR
3. ORI e
4. % A-dled

Question Number : 148 Question Id : 9277591702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is fitted from the top down to the bottom.
Options :

1. # Tent

2. ¥ Sheath Line

3. % Empire Line

4. % Princess Line

Question Number : 148 Question Id : 9277591702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI IR Y 71 o1 3R e frar Srar g
Options :
1. % d¢
2. ¢ Y drgA



3. % THR™R @1
4. % TOg YEn

Question Number : 149 Question Id : 9277591703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The V-Shaped waistline is also known as waistline.
Options :

1. # Raised

2. % Diagonal

3. ¥ Basque

4. #* Drop

Question Number : 149 Question Id : 9277591703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

V-3HR B HHLET (AaTz) Bl FHHRRAT (A AT) & &g H Ht 1 S g |
Options :

1. % 331 g8

2. % fagpuf

3. ¥ IR

4. % g

Question Number : 150 Question Id : 9277591704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The has a drawstring, belt or similar closing at or below the waist.
Options :

1. # Skater Dress

2. % Bodycon Dress

3. % Shift Dress



4. % Blouson Dress

Question Number : 150 Question Id : 9277591704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A pmR R a1 919 SR, Sec a1 994 §¢ BT 2|
Options :
], % ThX g9
2. % §igldi gd
3. % R g9
4.V SEISH

Question Number : 151 Question Id : 9277591705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these depict a gathered skirt with a puffy silhouette?
Options :

1. # Yoke Skirt

2. % Sheath Skirt

3. % Trumpet Skirt

4. ¥ Balloon Skirt

Question Number : 151 Question Id : 9277591705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 A I Bell g Ricge & 1y e w6 &l gxfarge

Options :

1. % gid Whe
2. % MY WHC
3. % T Whe
4. ¥ S Whe



Question Number : 152 Question Id : 9277591706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In pants, the wide flared leg tapers at the ankle to create an angled effect.
Options :

1. # Sailor

2. # Palazzo

3. % Boot-cut

4. ¥ Jodhpur

Question Number : 152 Question Id : 9277591706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Te d s TS ol e IR TIeS UHTE 991 & ot ge (@) 91d ] |
Options :
1. % IR
2. % garell
3. ¥ gc-dc
4. ¥ SIYQR

Question Number : 153 Question Id : 9277591707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are referred to the amount of excess confined between the lines that converge at a predetermined pattern.
Options :
1. # Dart Legs
2. # Dart
3. % Bust point
4. ¥ Dart intake

Question Number : 153 Question Id : 9277591707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Y4 iR Yo R SRR or areht it & ot wifia sifafad o 1 eftfd s=ar g |
Options :
1. % 8¢
2. % B¢
3. % S S
4. ¥ B ECH

Question Number : 154 Question Id : 9277591708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the placement of lines on a traced copy relating to the design features which are used as guidelines.
Options :
1. % Pattern manipulation
2. % Pattern plot
3. ¥ Working pattern
4. ¥ Design Pattern

Question Number : 154 Question Id : 9277591708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S glaement T Gefdd a1 & 718 HIUt o= Y@sil &1 R 8 S feenfaden & = u & Iugiv &1 9t ]
Options :
1. % Yo Iga=H
2. ¢ Ued wiie
3. % B Ued
4, % fEoe Ues

Question Number : 155 Question Id : 9277591709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
is called invisible hand basting.

Options :

1. ¥ Slip

2. % Diagonal

3. % Even

4. % Uneven

Question Number : 155 Question Id : 9277591709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T B ST BT 8|

Options :

1. ¢ U

2. % faepuf

3. % gHH

4, % AHYHMH

Question Number : 156 Question Id : 9277591710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pallu of a saree is of its complete length.
Options :

1. % 50%

2. % 20%

3. % 30%

4. ¥ 40%

Question Number : 156 Question Id : 9277591710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS TS BT Uee] 39! I3 daTs Pl H6iE




Options :
1. # 50%
2. % 20%
3. % 30%
4. ¥ 40%

Question Number : 157 Question Id : 9277591711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The saree is also known as Temple Saree characterized by wide borders, earthy shades and motifs.
Options :

1. # Narayanpet

2. ¥ Konrad

3. % Kantha

4. ¥ Maheshwari

Question Number : 157 Question Id : 9277591711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSt B S ret & =Y B H ST S 7, Ford fawqga a1, Afeared 3 ok Uil o fagivdr gidt 3|
Options :
1. % IRIUUC
2. ¥ HIRTS
3. % PHIYT

4. % HgH

Question Number : 158 Question Id : 9277591712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In saree, during the dyeing process, the cloth Is tied and folded in a manner that the colour is applied only in a particular pattern.
Options :



1. # Kalamkari
2. % Bagh

3. % Ajrak

4. ¥ Leheriya

Question Number : 158 Question Id : 9277591712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ISt H, I97% o1 UfhdT & SR, HUS B 39 dig I SieT 3R AIST STdl @ b 1 had U Ay Ue | & e ST g |
Options :
1. % HAHBRI
2. % 9N
3. ®# 3ORH

4. ¢ Rl

Question Number : 159 Question Id : 9277591713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a factor to be considered in the selection of media?
Options :

1. ¥ Brand History

2. ¥ Media Penetration

3. % Target Market

4. % Cost

Question Number : 159 Question Id : 9277591713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § @ o 91 R Wifgar & Tga H T8 /41 911 82

Options :

1. ¢ §is sfds™



2. % Hifgaruawy
3. # dVR d&d
4. % GNTd

Question Number : 160 Question Id : 9277591714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measurement of success of an advertisement plan is termed as which of these elements?
Options :

1. * Situation Analysis

2. # Strategy Statement

3. % Evaluation

4. % Promotion Plan

Question Number : 160 Question Id : 9277591714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T} fAQTU= i1 Bt T adr & AU &l Fufiiad 5 9 o 91 Uit 8T oildT 82
Options :

1. % fyfq fa=eryor

2. % UG dad™

3. ¢ Aib

4. % YR oAl

Discipline4
Group Number : 9
Group Id : 92775959
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 92775959

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 92775971

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9277591715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is used to measure the size of an audience reached .
Options :

1. ¥ Gross Rating Point

2. * Frequency

3. * Reach

4. * Impression

Question Number : 161 Question Id : 9277591715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



D1 FUANT &Rid! dd Ugd & HHR DI AU o o foar Srar 5|
Options :
1. ¢ UM AT Uise
2. % g
3. % Ugd
4. % gUIq

Question Number : 162 Question Id : 9277591716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The exhibition are also known as horizontal markets.
Options :

1. # Trade Markets

2. ¥ Consumer Exhibition

3. % Educational Exhibition

4. % Press events

Question Number : 162 Question Id : 9277591716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &l &fae SR & w0 F o S ST B
Options :

1. # UR d6IR

2. ¢ JUHIT UagH

3. % Qe yaH

4. % U9 HHH

Question Number : 163 Question Id : 9277591717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The is also known as Flash Retailing.



Options :

1. # Trunk Show
2. % Pop up Shop
3. % Trade show

4. # Corporate Events

Question Number : 163 Question Id : 9277591717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B TR Refel & =g # off S ST 81
Options :
1. % H
2. ¥ UIY 34 MY
3. % HTUR Y&
4. % $HUN HRIBHH

Question Number : 164 Question Id : 9277591718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The step involved in organising an exhibition, visualises the layout.
Options :

1. % Evaluation

2. % Demonstration

3. ¥ Planning

4. % Assessment

Question Number : 164 Question Id : 9277591718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T USTHT & 3o H mfed HaH, AATIC DI HegAT HAT g

Options :




1. % Th
2. % Y&
3. ¢ IS
4. % 3fIHdd

Question Number : 165 Question Id : 9277591719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The seeking of sponsors is a part of which of these planning of an exhibition?
Options :

1. * Conceptualisation

2. % Costing

3. % Customisation

4. ¥ Canvassing

Question Number : 165 Question Id : 9277591719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORISIoh | &1 qelT=l, UGRI &t Fafarad & J forg diomT &1 g g2
Options :

1. % HJYRUM

2. % oNTd

3. ® AHJhdd

4. ¢ TRIR (B-a1AT)

Question Number : 166 Question Id : 9277591720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The wore a loincloth made of woven material wrapped several times and kept in place by a girdle.
Options :

1. # The Romans



2. ¥ The Egyptians
3. #* The French
4. * The Germans

Question Number : 166 Question Id : 9277591720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 8 T T g% T 5 T R e el aeht o o et gy o A T v o
Options :
1. % A
2. ¢ forgart
3. % TR
4. % S

Question Number : 167 Question Id : 9277591721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The chiton, peplos and chlamys are the chief garment item of?
Options :

1. # The Persians

2. % The Hebrews

3. #® The Babylonians

4. ¥ The Greeks

Question Number : 167 Question Id : 9277591721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIeH, Ui SR FeiH! fosdas Ui uRe 7 g2
Options :

1. ® BRE!

2. % gETA



3. % SElIAE
4. N

Question Number : 168 Question Id : 9277591722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Toga was a distinctive garment of
Options :

1. ¥ The Romans

2. # The Scynthians

3. % The Greeks

4. # The Syrians

Question Number : 168 Question Id : 9277591722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
anm &1 fafRry gy |
Options :

1. ¢ A

2. % U

3. % gAML

4. % Hifars

Question Number : 169 Question Id : 9277591723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dalmatica, alba, stola and pluvial are closely related to which of these?
Options :

1. # The Sicilian

2. # The French

3. % The Romans



4. # The Spanish

Question Number : 169 Question Id : 9277591723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, i, Wrel 3R Wfoad FafeRad # 3 forad Maear 3 et g2
Options :

1. # fufafera

2. % AL

3. ¢ A

4. % WA

Question Number : 170 Question Id : 9277591724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mantilla, peineta and gilet were traditionally associated with which of these?
Options :

1. ¥ The Spanish

2. # The French

3. #® The Greek

4. % The Persian

Question Number : 170 Question Id : 9277591724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfee, Uer iR e uRuRe wu 3 Fafifad 3 9 feds 9 s a2
Options :

1.« T

2. % AL

3. ® gAML

4. % BRI




Question Number : 171 Question Id : 9277591725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
provides the illusion of motion in a design.
Options :
1. ¥ Rhythm
2. % Proportion
3. % Balance

4. % Emphasis

Question Number : 171 Question Id : 9277591725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fSTTS o 71t T Yo Y™ el g |

Options :

1.« dId

2. % HHUId

3. % Hgad

4, % HIYRU

Question Number : 172 Question Id : 9277591726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The produces a sense of equilibrium in a design composition.
Options :

1. % Proportion

2. ¥ Balance

3. ¥ Harmony

4. # Rhythm

Question Number : 172 Question Id : 9277591726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SO T H S &1 Wi S PRl B |
Options :

1. % JHUT

2. ¢ e

3. % TR-JfA

4. % dIid

Question Number : 173 Question Id : 9277591727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is referred to as the focal point of a design.
Options :
1. % Balance
2. % Rhythm
3. % Proportion
4. ¥ Emphasis

Question Number : 173 Question Id : 9277591727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI fSoZ & &g fdg & &0 o ST o |
Options :
1. * Hga
2.% Y
3. % gHEUId
4. % YR

Question Number : 174 Question Id : 9277591728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
occurs when the parts of a design are related by unity.
Options :
1. # Balance
2. % Harmony
3. * Proportion
4. % Rhythm

Question Number : 174 Question Id : 9277591728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 BIdT § 9Id fordl] [STTe & feed TheudT 4 Hafid gid 5
Options :
L. * Her
2. ¢ TR
3. % gHUId
4, % dIid

Question Number : 175 Question Id : 9277591729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also known as Progressive Rhythm.
Options :
1. ¥ Rhythm by Radiation
2. % Rhythm by Gradation
3. ¥ Rhythm by Repetition
4. # Unified Rhythm

Question Number : 175 Question Id : 9277591729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

> wErfar=ite arer (fRra Rem) & 7 3 i ST ST B




Options :

1. % fafeRurgRI o™

2. ¢ ST GRI T

3. % Qg d (UCRM) gRIag
4. % Tblpd did

Question Number : 176 Question Id : 9277591730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The helps to keep the grainline of the fabric correct.
Options :

1. # French Curve

2. % L- Scale

3. # Hip Curve

4. # Grading Scale

Question Number : 176 Question Id : 9277591730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUS DI YIS B! Tal I8 | Heg Hdl gl
Options :
1. % Thd dsh
2. ¢ L-Thd
3. % fgUdd
4. % ST Wb

Question Number : 177 Question Id : 9277591731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The is NOT a marking tool.
Options :



1. ¥ Hem Gauge
2. # Tracing Wheel
3. % Tailor's Chalk
4. % Carbon

Question Number : 177 Question Id : 9277591731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3/ T TG 5|

Options :

1. ¥ gHIS

2. % RIS

3. % qolf a1

4. % BIe

Question Number : 178 Question Id : 9277591732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
consists of a set of teeth fitted below the needle plate.
Options :
1. # Presser foot
2. ¥ Feed dog
3. # Spool pin
4. ¥ Bobbin Winder

Question Number : 178 Question Id : 9277591732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

# g% Wi & I 1 Gl 1 TP 9g s g |

Options :

1. % gEadfe W



Question Number : 179 Question Id : 9277591733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is an attachment of a straight stitch machine used for the application of a zipper.
Options :

1. % Tucker

2. ¥ Cording Foot

3. ¥ Hemmer Foot

4. # Feed cover plate

Question Number : 179 Question Id : 9277591733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eft Ryars =09 &1 sicadc g e IuahT o @ & forg far S g
Options :
1. ¥ TP

Question Number : 180 Question Id : 9277591734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these are the standard seam allowance for armholes?
Options :

1. # 1/4 inch

2. % 2 inches



3.4 1/2 inch
4. % 1 inch

Question Number : 180 Question Id : 9277591734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dig & fo 378 ¥ & I 7S i oivs (A1) 31T 82

Options :
1. % 1/4349
2. % 254
3./ 128
4. % 159
Discipline5
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Group Id : 92775960
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Group Minimum Duration : 120
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Break time : 0
Group Marks : 20
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Section Id : 92775960
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Number of Questions : 20

Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 92775972
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277591735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these do not fall under the circumference measurement category?
Options :

1. ®* Abdomen

2. % Bust

3. ¥ Bust Arc

4. % Hip

Question Number : 181 Question Id : 9277591735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S99 T DI 1 uRfey Hy Joft & sicfa et s g2
Options :

1. % Ue

2. % BIdl

3. ¥ BI 3flh

4. % faw

Question Number : 182 Question Id : 9277591736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the most appropriate seam allowance for a sleeve hem, without cuff?



Options :

1. # 1/4 inch

2. % 3/4to 1 inch
3. # 1/2inch

4. # 2 inches

Question Number : 182 Question Id : 9277591736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B b o1, SATEI B oH P T Je UG Tia SIS (IH) I3 HIF AT 62
Options :

1. % 1/43d

2.¥3/44 139

3.% 1284

4. % 259

Question Number : 183 Question Id : 9277591737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Cap Height is measured by -

Options :

1. # Shoulder tip to side seam waistline intersection

2. ®* Centre front to high bust point

3. % Round measurement over the fullest part of the arm

4. % Shoulder tip to underarm line

Question Number : 183 Question Id : 9277591737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U B HaTs [hTb gRT AT STl & -

Options :




1. % HY B! e Y Igs W olig (FH) FHWAT Ufdwsed
2. % e The Y 8T8 9% Ulse

3. % §ig & IR fgW W I 919

4. ¢ HY B AP Y TG QT

Question Number : 184 Question Id : 9277591738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 1s measured from waistline intersection at side seam over the hip to ankle.
Options :

1. # Center back length

2. ¥ Side seam length

3. % Apex measurement

4. % Back hip line

Question Number : 184 Question Id : 9277591738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B HHRGT (T3 & Ufdwe A Heg U T db AIES Wiad Sl (HH) TR AT SIra 3 |
Options :
1. % &g Uy daTs
2. ¢ TS Yta s () dars
3. % U AT
4. % 9% RRuar

Question Number : 185 Question Id : 9277591739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these techniques are used to identify quality problems on the basis of their degree of importance?
Options :

1. ® Scatter Diagrams



2. * Control Charts
3. % Pareto Analysis
4. % Flow Charts

Question Number : 185 Question Id : 9277591739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH W for da-iich T SUANT T[UIadl THTST BI I Hed B! [SUT & YR TR Ugd- o [od foar STl g2
Options :

1. % Yabiuf 3G

2. % fdFm A

3. ¢ 4RI fa=etm

4. % GRS

Question Number : 186 Question Id : 9277591740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these costs are incurred in the process of uncovering defects in quality?
Options :

1. # Prevention costs

2. % Appraisal costs

3. % Internal failure costs

4. % External failure costs

Question Number : 186 Question Id : 9277591740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 W DI T AT Ol H QIS D1 SR B $1 UiehdT & G il 67
Options :

1. % HYMH ANTd

2.  gHIEN e




3. % AR [Amadr artd
4. % 9183 [Awadr anTd

Question Number : 187 Question Id : 9277591741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ply height is associated with which of these quality control stages?
Options :

1. ¥ Spreading quality control

2. ® After cutting quality control

3. # In process quality control

4. % Washing section quality control

Question Number : 187 Question Id : 9277591741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bl GaTg 394 Y foh TuraT gz aRuT & et 82
Options :

1. ¥ T[OrGT A0

2. % I & §1¢ ol a0

3. % Yfchar ¥ ura (g0

4. % TS SFTHFT IO FI=0m

Question Number : 188 Question Id : 9277591742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Two hourly audit is conducted in which of these section of quality control?
Options :

1. ® In process

2. ¥ Finishing

3. % Washing



4. # Cutting

Question Number : 188 Question Id : 9277591742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUTaRTT T & 3H Q e e o 4 e Bl At Ui Srford ot et 8
Options :

1. % STYRY

2. ¢ UREHRT

3. % Yqrg

4. % Ty

Question Number : 189 Question Id : 9277591743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is a machine variant of chain stitches.
Options :

1. ¥ Double-chain stitch

2. # Open-Chain Stitch

3. # Cable-Chain Stitch

4. #® Knotted-Chain Stitch

Question Number : 189 Question Id : 9277591743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Ryetrs o1 7= UBR B

Options :

1. ¢ Sod-oH Ryers

2. % 3 Ryers

3. % Hd-oH Ry

4. % U = Ryams



Question Number : 190 Question Id : 9277591744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is done by stretching a fabric on a frame and stitching with a long needle.
Options :

1. # Mirror work

2. % Aari work

3. ® Couching

4. % Eyelet Hole

Question Number : 190 Question Id : 9277591744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUS DI TH A IR TTadH 3R Td Al Gs A RIATE Hdb (a1 A ¢ |
Options :
1. % MM HH (R 9)
2. ¢ IR BH
3. % BT
4. % 3 g

Question Number : 191 Question Id : 9277591745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The matte embroidery cotton thread Is comprised of

Options :
1. % 2 Ply
2. % 3Ply
3. % 4 Ply
4. ¥ 5Ply

Question Number : 191 Question Id : 9277591745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

He Fels ard ot 4 & M gIT 6|
Options :

1. % 2 g

2. % 3R

3. % 4@

4. 5.

Question Number : 192 Question Id : 9277591746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are finished slits or faced openings.
Options :
1. # Collar
2. % Facing
3. ¥ Plackets
4. ® Darts

Question Number : 192 Question Id : 9277591746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fonforer e a1 g Siuf § |

Options :

1. ¥ BleR

2. % BRI

3. ¢ Wdheq

4. % 3¢

Question Number : 193 Question Id : 9277591747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Darning and Patching are features of which of these?
Options :

1. ¥ Mending

2. # Fasteners

3. ¥ Hems

4. % Plackets

Question Number : 193 Question Id : 9277591747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST SR AT 51 & forarap! faive &2
Options :

1.« A

2. % hRENR

3. % g0

4. % Whey

Question Number : 194 Question Id : 9277591748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to fashion cycle length, which of these have short acceptance?
Options :

1. # Normal Cycle

2. # (Classic Cycle

3. % Fad Cycle

4. ¥ Flop Cycle

Question Number : 194 Question Id : 9277591748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e b DI daTs & g o, Fafiea & 3 frue w0 Wiefa g



Options :

1. % gE A1gfdbd
2. % FARID Frgfdal
3. ¥ I Tigfohd

4. % GATg Arsford

Question Number : 195 Question Id : 9277591749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In theory of forecasting, the use of mathematical equations are used for drawing economic models.
Options :

1. ® Cross-Cut Analysis

2. ® Sequence Method

3. ¥ Model Building Approach

4. ® Action and Reaction Approach

Question Number : 195 Question Id : 9277591749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA & Rrgia &, anfie Aisd s & fore kit Teievol &1 SuanT fesar ST g |
Options :

1. % hig-se fazayur

2. % 3chH fafY

3. ¢ Higd AT PP (\isd fafcgT )

4. % forar SR wfaferan efPewioT (vaer T Ruasr wit)

Question Number : 196 Question Id : 9277591750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
area of Forecasting involves prediction of changes in the consumer tastes and demands.
Options :



1. # Competition
2. # Technological
3. % Economic

4. ¥ Social

Question Number : 196 Question Id : 9277591750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qaiq™ & &= T IUIaRT 1 TG SR AT H ggard &1 Hiawrmarht i g1
Options :

1. % giIran

2. % RISy

3. % 3

4. ¥ FHTH

Question Number : 197 Question Id : 9277591751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is NOT a pattern of Fashion Forecasting.
Options :
1. ¥ Horizontal Axis
2. % Pendulum Swing
3. # Fashion Curves
4. # Fashion Cycle

Question Number : 197 Question Id : 9277591751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 PyAyEgHE e A8 B

Options :

1. ¢ afast 3re



2. % UgaH g
3. % B 9% (F9)
4. % Ty OTsford

Question Number : 198 Question Id : 9277591752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is NOT a security concern for the management of a fashion show?
Options :

1. % Venue and Equipment Security

2. ¥ Cyber Security

3. ¥ Staff Security

4. % Audience Security

Question Number : 198 Question Id : 9277591752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &9 1 A <N & sy & forg JRe fidr o1 fawa T8t g2
Options :

1. % RIM 3R IUSU GRE

2. ¢ g Y&l

3. ® X% Il

4. % TP B GRET

Question Number : 199 Question Id : 9277591753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is carried by models to alert casting crew and directors about their pertinent details.
Options :

1. ¥ Comp card

2. ® Show notes



3. % Show card
4. ¥ Comp notes

Question Number : 199 Question Id : 9277591753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B ATSd gRT ST % 3R FERD! Bl I Tiep fIaR0r b aR § Ted 3 & fow & S S g |
Options :
1. ¥ B HIS
2. % QN HICY
3. % MBI
4, % BT AICY

Question Number : 200 Question Id : 9277591754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Income, age and gender are factors of which of these audience segmentation?
Options :

1. ¥ Demographic Segmentation

2. # Behavioral segmentation

3. # Geographic segmentation

4. ® Psychographic segmentation

Question Number : 200 Question Id : 9277591754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

311, 3M1g 3R feft Fgfafad & 9 forg <=fe fausH @ HeRH) & R 82
Options :

1. ¢ SIRADIY faHTSH (SHRI S TITHCIA)

2. % agR faureH (esfoura T dem)

3. % Uferes faursH (Sranftee Tmweem)




4. ® TS fGUSH (ASHRIH! STHTA)



